SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	Site (in Sq		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to ma should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant													
· The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	snould have firm offer fo	or the same.	I	lone	I	1		I	1	I	ı	I	
				MS + HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH	-	_	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Bidding		
1	From Belgaon to Bela Village limits, on NH-353B	ADILABAD	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
2	Hasnapur Village limits, on Adilabad to Asifabad road, Utnoor Mandal (Not on NH/SH)	ADILABAD	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
3	FROM PURANAPUL X ROADS TO PILLAR NO. 103 of PVNR expressway VIA GOLCONDA ROAD	HYDERABAD	Regular	170	OBC	CC	25	20	600	32	12	Bidding	30	4
4	FROM ALCAZAR MALL TO TV5 OFFICE JUBILEE HILLS VIA ROAD NO. 10	HYDERABAD	Regular	250	OBC	DC	25	20	600	32	75	Draw of Lots	15	4
- 5	FROM AOC CENTRE TO ESHWARIBAI CIRCLE ON EAST MAREDPALLI ROAD	HYDERABAD	Regular	240	OBC	DC	25	20	600	32	75	Draw of Lots	15	4
- 6	FROM METRO PILLAR NO GABNP10 (MJ MARKET) TO SALARJUNG ROAD ON EITHER SIDE	HYDERABAD	Regular	200	OBC	DC	25	20	600	32	75	Draw of Lots	15	4
7	On either side from Metro Pillar Number A943 to Allapur Cross Roads via Ashok Marg – Boraband Allapur Road	HYDERABAD	Regular	400	OPEN	СС	25	20	800	32	12	Bidding	30	5
8	ON ASIF NAGAR MAIN ROAD BETWEEN HOTEL CITY DIAMOND, MEHDIPATNAM AND MALLEPALLY CIRCLE	HYDERABAD	Regular	250	ОВС	СС	25	20	600	32	12	Bidding	30	4
9	ON EITHER SIDE FROM HIMAYAT NAGAR CIRCLE TO BARKATPURA X ROADS	HYDERABAD	Regular	170	OBC	DC	25	20	600	32	75	Draw of Lots	15	4
10	ON EITHER SIDE FROM HPC SRI ANJANEYA FILLING STATION, SHAIKPET TO IOCL FRIENDS FILLING STATION, FILMNAGAR	HYDERABAD	Regular	250	ОВС	DC	25	20	600	32	75	Draw of Lots	15	4
11	FROM BOWENPALLY X ROADS TO TADBUND JUNCTION ON RHS VIA NH 44	HYDERABAD	Regular	250	OBC	CC	25	20	600	32	12	Bidding	30	4
12	ON NH65 ON EITHER SIDE FROM SANT NIRANKARI SATSANG BHAWAN, LAKDIKAPUL TO PUNJAGUTTA METRO STATION	HYDERABAD	Regular	250	ОВС	DC	25	20	600	32	75	Draw of Lots	15	4
13	FROM FATEH NAGAR STATION TO MAITRIVANAM BUILDING, AMEERPET VIA BALKAMPET ROAD	HYDERABAD	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5
14	ON RHS FROM PRIDE MOTORS JAGUAR LANDROVER SHOWROOM SHAIKPET TO SUNSHINE HOSPITALS DARGAH ROAD	HYDERABAD	Regular	200	ОВС	DC	25	20	600	32	75	Draw of Lots	15	4
15	FROM PILLAR NO. 90 TO PILLAR NO. 110 OF PVNR expressway ON LHS (MEHDIPATNAM TO ATTAPUR)	HYDERABAD	Regular	200	OPEN	СС	25	20	600	32	12	Bidding	30	5
16	FROM RTC X ROADS TO VIDYA NAGAR - OSMANIA UNIVERSITY ROAD JUNCTION	HYDERABAD	Regular	340	OPEN	СС	25	20	600	32	12	Bidding	30	5
17	Bahadurpura on road connecting Pillar no. 144 of PVNR EXPRESSWAY to NH44 (Kishanbagh Road)	HYDERABAD	Regular	250	SC	CFS	25	20	600	0	0	Draw of Lots	0	3
18	TROUD TO THE BAPTIST CHURCH TO TIRUMALAGIRI GOUGH ROAD JUNCTION VIA AOC CIRCLE	HYDERABAD	Regular	250	sc	CFS	25	20	600	0	0	Draw of Lots	0	3
19	FROM KING KOTI ROAD (ABIDS) TO BARKATPURA X ROADS VIA YMCA JUNCTION	HYDERABAD	Pogular	170	SC	CFS	25	20	600	0	0	Draw of Lots	0	3
20	FROM PARADISE CROSS ROADS TO RASOOLPURA METRO STATION VIA SARDAR PATEL ROAD	HYDERABAD	Regular Regular	250	SC	CFS	25	20	600	0	0	Draw of Lots	0	3
21	FROM RASOOLPURA METRO STATION TO GOVT WOMEN'S DEGREE COLLEGE BEGUMPET VIA SARDAR PATEL ROAD	HYDERABAD	Regular	300	sc	CFS	25	20	600	0	0	Draw of Lots	0	3
22	FROM TADBUN TO NH44 - ANSARI RD JN. VIA ANSARI ROAD/RANJAN COLONY ROAD	HYDERABAD	Pogular	150	SC	CFS	25	20	600	0	0	Draw of Late	0	3
23	ON BHOIGUDA-MUSHEERABAD MAIN ROAD FROM GANDHI HOSPITAL METRO STATION TO RTC		Regular Regular			CC						Draw of Lots		
	X ROADS	HYDERABAD	.	260	OPEN		25	20	600	32	12	Bidding	30	5
24 25	FROM LALAPET - MOULALI ROAD TO ANAND BAGH CROSS ROAD ON EITHER SIDE In LANGERHOUZ ON Nanal Nagar-Bandlaguda Jagir Road via Bapu Nagar	HYDERABAD HYDERABAD	Regular Regular	250 250	OPEN SC	CC CFS	25 25	20 20	600 600	32 0	12 0	Bidding Draw of Lots	30	5
26	ON EITHER SIDE FROM DURGAM CHERUVU METRO STATION TO PEDDAMMA GUDI METRO STATION	HYDERABAD	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
27	On Camelot place- KMP Estate - Narne estate Road, From junction of camelot place- Botanical		Regular			СС							30	5
28	garden to the junction of name estate road-manjeera road ON EITHER SIDE FROM JNTU METRO STATION TO MIYAPUR METRO STATION	HYDERABAD HYDERABAD	Danilas	250 250	OPEN OPEN	СС	25 25	20	600 600	32 32	12 12	Bidding	30	5
	ON EITHER SIDE FROM MEHBUBIA GIRLS HIGH SCHOOL ON HIMAYAT NAGAR ROAD TO	HIDEKABAD	Regular	250	OPEN		25	20	600	32	12	Bidding	30	
29	HIMAYAT NAGAR CIRCLE	HYDERABAD	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	Site (in Sq.		арр	arranged by the	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2		4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to ma													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant s	hould have firm offer f		MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	cc/dc/cFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
30	ON LHS FROM PRIDE MOTORS JAGUAR LANDROVER SHOWROOM SHAIKPET TO SUNSHINE		Regular			СС								_
	HOSPITALS DARGAH ROAD	HYDERABAD	·	250 250	OPEN		25 25	20	600 600	32 32	12 12	Bidding	30 30	5
31	ON NH65 ON EITHER SIDE FROM PUNJAGUTTA METRO STATION TO SR NAGAR METRO STATION ON EITHER SIDE FROM RATHIFILE CITY BUS STATION TO CLOCKTOWER PARK ON REGIMENTAL	HYDERABAD	Regular	250	OPEN	CC	25	20	600	32	12	Bidding	30	3
32	BAZAR ROAD	HYDERABAD	Regular	250	OPEN	DC	25	20	600	32	75	Draw of Lots	15	5
	ON EITHER SIDE FROM RAVINDRABHARATHI X ROADS TO IRO TANKBUND ON SRINAGAR-		Regular											
33	KANYAKUMARI HIGHWAY	HYDERABAD	, and the second	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
34	ON EITHER SIDE FROM SR NAGAR METRO STATION TO BHARAT NAGAR METRO STATION	HYDERABAD	Regular	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
35	ON KARIMNAGAR HYDERABAD HIGHWAY ON EITHER SIDE FROM PATNY CROSS ROAD TO		Regular			CFS				0	0	Draw of Lots	0	3
	KARKHANA JUNCTION	HYDERABAD		250	ST	0.5	25	20	600					
36	ON EITHER SIDE FROM VIRINCHI HOSPITALS TO CAFÉ NILOUFER ON ROAD NO. 12, BANJARA HILLS	HYDERABAD	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5
37	ON EITHER SIDE FROM YUSUFGUDA METRO STATION TO BPCL COCO BP AMEERPET VIA PJR		Regular			СС								
	CIRCLE, YUSUFNAGAR MAIN ROAD	HYDERABAD		250	OPEN		25	20	600	32	12	Bidding	30	5
38	On LHS from Malakpet to Chaderghat	HYDERABAD	Regular	250	ST	CFS	25	20	600	0	0	Draw of Lots	0	3
39	ON EITHER SIDE OF RAJBHAVAN ROAD FROM RAJIV GANDHI STATUE TO KHAIRATABAD METRO		Regular			сс								_
40	STATION ON GREEN HILLS ROAD FROM HITECH CITY MMTS STATION PARK TO MOOSAPET CROSS ROADS	HYDERABAD HYDERABAD	Dec. les	250 250	OPEN OPEN		25	20 20	600 600	32 32	12 12	Bidding Bidding	30 30	5
40	ON INDIRA PARK - RTC X ROADS ROAD FROM JUNCTION OF LOWER TANK BUND ROAD & INDIRA	HTDERABAD	Regular	250	OPEN	CC	25	20	600	32	12	Віааіпд	30	3
41	PARK ROAD TO RTC X ROADS METRO STATION	HYDERABAD	Regular	280	OPEN	CC	25	20	600	32	12	Bidding	30	5
42	On RHS from Chadergat to Malakpet	HYDERABAD	Regular	250	ST	CFS	25	20	600	0	0	Draw of Lots	0	3
	ON INNER RING ROAD ON EITHER SIDE FROM CITY CENTER MALL, ROAD NO. 1, BANJARA HILLS		Regular									Didw or Lots	-	
43	TO MASAB TANK JUNCTION	HYDERABAD		250	OPEN	CC	25	20	600	32	12	Bidding	30	5
44	ON INNER RING ROAD ON EITHER SIDE FROM LAKDIKAPOOL METRO STATION TO NANAL NAGAR CROSS ROADS	HYDERABAD	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5
45	ON INNER RING ROAD ON EITHER SIDE FROM PUNJAGUTTA JUNCTION TO BEGUMPET GOVT		Regular			СС								
40	WOMEN'S DEGREE COLLEGE ON INNER RING ROAD ON EITHER SIDE FROM PUNJAGUTTA JUNCTION TO CITY CENTER MALL	HYDERABAD HYDERABAD	Pocle-	250 250	OPEN OPEN		25 25	20	600 600	32 32	12 12	Bidding	30 30	5
46	ON SRINAGAR-KANYAKUMARI HIGHWAY ON EITHER SIDE FROM BUDDHA BHAVAN TO PARADISE	HIDENABAD	Regular	250	OPEN	CC	25	20	000	0	0	Bidding Draw of Lots	0	3
47	X ROADS	HYDERABAD	Regular	250	ST	CFS	25	20	600			PI GW OI LULS		
48	ON KACHIGUDA STATION ROAD FROM RAMKOTI CHOURASTA TO KACHIGUDA RAILWAY STATION	HYDERABAD	Regular	190	OPEN	CC	25	20	600	32	12	Bidding	30	5
49	ON KAVADIGUDA ROAD FROM MAHATMA GANDHI ROAD - KAVADIGUDA ROAD JUNCTION TO KAVADIGUDA ROAD - BHOIGUDA ROAD JUNCTION	HYDERABAD	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
50	ON MEHDIPATNAM RING ROAD ON EITHER SIDE FROM MILAN GARDEN FUNCTION HALL RETHI BOWLI ROAD TO KINGS PALACE FUNCTION HALL	HYDERABAD	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5
	ON NARSINGI PUPPALAGUDA MANIKONDA MAIN ROAD BETWEEN NARSINGIN SUB REGISTRAR	HIDENADAD	Regular	250	J. E.IV		2.5	20	000	32	1	D.GGIIIB	30	
51	OFFICE TO PUPPALAGUDA MANIKONDA MAIN ROAD & 7 TOMBS ROAD JUNCTION	HYDERABAD	100	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
52	ON OLD MUMBAI HIGHWAY ON EITHER SIDE FROM NANAL NAGAR CROSS ROAD TO TOLI CHOWKI TWIN FLYOVERS JUNCTION	HYDERABAD	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5
53	ON OLD MUMBAI HIGHWAY ON EITHER SIDE FROM TOLI CHOWKI TWIN FLYOVERS JUNCTION		Regular			СС								
	TO PRIDE MOTORS JAGUAR LAND ROVER SHOWROOM, SHAIKPET ON PADMARAO NAGAR STREET NO.13 ON EITHER SIDE FROM PARSIGUTTA X RODS TO	HYDERABAD	Regular	250	OPEN		25	20	600	32	12	Bidding	30	5
54	PADMARAO NAGAR MAIN PARK	HYDERABAD	J	250	OPEN	СС	25	20	600	32	12	Bidding	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	Site (in Sq.		арр	arranged by the	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	Siloulu liave III ili oliei ic	ille saille.		lone	1	1			1		1	1	1
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
55	ON RAIL NILAYAM ROAD ON EITHER SIDE FROM SANGEET JUNCTION TO RAIL NILAYAM	HYDERABAD	Regular	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
56	ON RUKMINI ENCLAVE ROAD, FROM RUKMINI ENCLAVE ARCH TO ALWAL ROAD, ON EITHER SIDE	HYDERABAD	Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5
57	ON S D ROAD ON EITHER SIDE FROM JUNCTION OF R P ROAD & S D ROAD TO JUNCTION OF S D		Regular			СС								
	ROAD & M G ROAD	HYDERABAD		250	OPEN		25	20	600	32	12	Bidding	30	5
58	ON S D ROAD ON EITHER SIDE FROM SANGEETH JUNCTION TO JUNCTION OF R P ROAD & S P ROAD	HYDERABAD	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
59	ON SANTHA SHRI KESAVA SWAMI MAHARAJ MARG, JIYAGUDA FROM NEHRU CHILDREN HIGHSCOOL TO KULSUMPURA POLICE OUTPOST	HYDERABAD	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5
60	ON SRINAGAR COLONY MAIN ROAD FROM JUNCTION OF YOUSUFGUDA MAIN ROAD & SRINAGAR COLONY MAIN ROAD TO JUNCTION OF SRINAGAR COLONY MAIN ROAD & NH65	HYDERABAD	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
61	ON SRINAGAR-KANYAKUMARI HIGHWAY ON EITHER SIDE FROM PARADISE CROSS ROADS TO TARBUND CROSS ROAD	HYDERABAD	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
62	ON STAFF ROAD FROM KARKHANA ROAD AND STAFF ROAD INTERSECTION TO HYDERABAD MANCHERIYAL HIGHWAY ON EITHER SIDE	HYDERABAD	Regular	550	OPEN	сс	25	20	600	32	12	Bidding	30	5
63	ON STREET NO. 1 BETWEEN ENGINEERS COLONY AND SRI NAGAR COLONY	HYDERABAD	Regular	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
64	FROM BOWENPALLY X ROADS TO TADBUND JUNCTION ON LHS VIA NH 44	HYDERABAD	Regular	180	OPEN	CC	25	20	600	32	12	Bidding	30	5
65	WITH IN 2 KM FROM GANDHI CHOWK ON GADWAL TO JURALA DAM ROAD, WITHIN GADWAL MUNICIPAL LIMITS NOT ON SH	JOGULAMBA GADWAL	Regular	133	OBC PH	DC	30	30	900	32	55	Draw of Lots	15	4
66	FROM VEMULA TO ERRAVALLI X ROAD ON NH 44 ON LHS TOWARDS HYDERABAD	JOGULAMBA GADWAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
67	GADWAL COLLECOTR OFFICE TO RTO OFFICE ON RHS - GADWAL ERRAVALLI ROAD	JOGULAMBA GADWAL	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
68	FROM D AMARAVAI VILLAGE TO BURDIPAD VILLAGE ON GADWAL- IEEJA ROAD,MALDAKAL MANDAL	JOGULAMBA GADWAL	Regular	121	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
69	FROM GADWAL COLLECOTR OFFICE TO RTO OFFICE ON LHS - GADWAL ERRAVALLI ROAD	JOGULAMBA GADWAL	Regular	124	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
70	GHANDHI CHOWK TO GANPAD ON GADWAL- RAICHUR ROAD, GADWAL TOWN	JOGULAMBA GADWAL	Regular	119	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
71	IEEJA VILLAGE AND MANDAL ON IEEJA GADWAL ROAD	JOGULAMBA GADWAL	Regular	106	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
72	WITH IN 2 KM FROM GADWAL NEW BUS STAND WITHIN GADWAL MUNICIPAL LIMITS NOT ON SH	JOGULAMBA GADWAL	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
73	WITH IN 3 KM FROM ERRAVALLI X ROAD NOT ON NH-44 TOWARDS GADWAL	JOGULAMBA GADWAL	Regular	141	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
74	FROM MAHABUBNAGAR NEW BUS STAND TO SRINIVASA COLONY ON LHS ON NH-167	MAHBUBNAGAR	Regular	226	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
75	KCR ECO PARK TO JADCHERLA NEW BUS STAND ON LHS ON NH 167	MAHBUBNAGAR	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
76	BETWEEN RAJAPUR AND BALANAGAR ON NH44 TOWARDS HYDERABAD	MAHBUBNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
77	FROM DISTRICT JAIL TO NEW COLLECTOR OFFICE ON SH 20 LHS TOWARDS MAHABUBNAGAR	MAHBUBNAGAR	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
78	BETWEEN BALANAGAR AND KETHIREDDIPALLE ON NH-44, LHS TOWARDS BENGALURU	MAHBUBNAGAR	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
79	FROM BHOOTPUR TO JANAMPETA (BETWEEN KM STONE 90 & 102) ON NH-44 , LHS TOWARDS BENGALURU	MAHBUBNAGAR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
80	FROM JADCHERLA TO BHOOTPUR FLYOVER ON NH-44, LHS TOWARDS BENGALURU	MAHBUBNAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
81 82	FROM MAHABUBNAGAR NEW BUS STAND TO ONE TOWN POLICE STATION ON NH 167 LHS FROM JADCHERLA TO RAIPALLE (BETWEEN KM STONE 82 & 74) ON NH-44 LHS TOWARDS	MAHBUBNAGAR	Regular Regular	199	OBC	DC DC	35	35	1225	32	95	Draw of Lots Draw of Lots	15	4
	HYDERABAD	MAHBUBNAGAR		150	OPEN		35	35	1225	32	95		15	5
83	FROM JANAMPETA TO ADDAKAL ON NH44, LHS TOWARDS BENGALURU	MAHBUBNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
84	FROM JANAMPETA TO BHOOTPUR ON NH 44, LHS TOWARDS HYDERABAD	MAHBUBNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	Site (in Sq			arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	s indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer fo	or the same.											
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
					ST CC 1	1								
					ST PH	1								
85	FROM MAHABUBNAGAR ONE TOWN POLICE STATION TO MAHABUBNAGAR NEW BUS STAND ON LHS ON NH 167	MAHBUBNAGAR	Regular	199	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
86	FROM MAHABUBNAGAR ONE TOWN POLICE STATION TO RTO OFFICE ON NH 167 LHS TOWRAD		Regular			DC						Draw of Lots		
- 00	RAICHUR,	MAHBUBNAGAR		150	OPEN	ВС	35	35	1225	32	95		15	5
87	PALAKONDA TO YENUGONDA VILLAGE ON MAHABUBNAGAR BYPASS ROAD LHS TOWARD	*********	Regular	440		CFS	20	20	000	0	0	Draw of Lots	0	3
88	YENUGONDA VILLAGE WITHIN MAHABUBNAGAR MUNICIPAL LIMITS WITH IN 2 KM FROM JADCHERLA FLYOVER JUNCTION ON RHS TOWARD JADCHERLA ON NH 167	MAHBUBNAGAR MAHBUBNAGAR	Decides	110 165	SC SC	CFS	30 35	30 35	900 1225	0	0	Draw of Late	0	3
89	WITHIN 2 KM FROM BHOOTPUR FLYOVER JUNCTION RHS TOWARDS MAHABUBNAGAR	MAHBUBNAGAR	Regular Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots Draw of Lots	0	3
90	YENUGONDA TO PALAKONDA VILLAGE ON MAHABUBNAGAR BYPASS ROAD RHS TOWARD PALAKONDA VILLAGE WITHIN MAHABUBNAGAR MUNICIPAL LIMITS	MAHBUBNAGAR	Regular	110	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
91	BETWEEN KETHIREDDIPALLE AND RAJAPUR ON NH-44, LHS TOWARDS BENGALURU	MAHBUBNAGAR	Pogular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
92	FROM RANIPET VILLAGE TO BOINAPALLE VILLAGE, MIDJIL MANDAL ON NH-167	MAHBUBNAGAR	Regular Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
93	JADCHERLA TOWN ON RAILWAY STATION ROAD NOT ON NH-167, WITHIN JADCHERLA MUNICIPAL LIMITS	MAHBUBNAGAR	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
94	WITHIN 4 KMS FROM DEVERAKADRA RAILAWAY TRACK ON NH 167 TOWARDS MAHABUBNAGAR ON BOTH SIDES	MAHBUBNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
95	BETWEEN KM STONE 436 TO 441 ON NH 44 LHS FROM HYDERABAD TO RAMAYANPET	MEDAK	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
96	BETWEEN KM STONE 442 TO MANOHARABAD TOLL PLAZA (TOOPRAN TOLL) ON NH 44 LHS FROM HYDERABAD TO RAMAYANPET	MEDAK	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
97	BETWEEN KM STONE 442 TO MANOHARABAD TOLL PLAZA (TOOPRAN TOLL) ON NH 44 RHS FROM HYDERABAD TO RAMAYANPET	MEDAK	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
98	BAYER BIO SCIENCE TO SHIVAJI STATUE JUNCTION AT TOOPRAN NOT ON NH/SH	MEDAK	Regular	150	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
99	BETWEEN KM STONE 436 TO 441 ON NH 44 RHS FROM HYDERABAD TO RAMAYANPET	MEDAK	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
100	WITHIN 2 KMS FROM MEDAK SP OFFICE TOWARDS CHEGUNTA ON MEDAK CHEGUNTA ROAD		Regular			DC						Draw of Lots		T
	WITHIN MEDAK MUNICIPAL LIMITS NOT ON SH/NH	MEDAK		100	OBC		30	30	900	32	55		15	4
101	WITH IN 2 KM FROM YEDUPAYALA KAMAN(PODCHENPALLY VILLAGE) ON SH-15	MEDAK	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
102	ON NH 765DG WITHIN 5 KMS FROM NH44 INTERSECTION TOWARDS MEDAK	MEDAK	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
103	WITH IN 2 KM FROM PAPANNAPET POLICE STATION ON SH-15 ON RHS ON GUNDLAPOCHAMPALLY VILLAGE ROAD FROM SNR GARDENS TO	MEDAK	Regular	100	OPEN	DC	30	30	900	32	75 0	Draw of Lots Draw of Lots	15 0	5
104	GUNDLAPOCHAMPALLY MUNCIPAL OFFICE(PREVIOUSLY GUNDLAPOCHAMPALLY GRAMPANCHAYAT OFFICE)	MEDCHAL MALKAJGIRI	Regular	170	SC CC 1	CFS	25	20	600			DIAW OI LOIS		3
105	YASHODA COLLEGE OF PHYSIOTHERAPY TO AYODHYA X ROAD	MEDCHAL MALKAJGIRI	Regular	160	ST PH	CFS	25	20	800	0	0	Draw of Lots	0	3
106	FROM NAGOLE JUNCTION TO KUNTLOOR JUNCTION ON BANDLAGUDA MAIN ROAD	MEDCHAL MALKAJGIRI	Regular	250	OBC CC 1	DC	25	20	800	32	75	Draw of Lots	15	4
107	ON SRILA PARK PRIDE ROAD- FROM CALVARY TEMPLE MAIN GATE TO OLD MUMBAY HIGHWAY	MEDCHAL MALKAJGIRI	Regular	250	SC CC 1	CFS	25	20	600	0	0	Draw of Lots	0	3
108	FROM PATEL KUNTA PARK KUKATPALLY TO NALLA POCHAMMA TEMPLE, SHAPURNAGAR SIGNAL VIA PIPELINE ROAD	MEDCHAL MALKAJGIRI	Regular	200	OBC CC 1	DC	25	20	600	32	75	Draw of Lots	15	4
109	IN BETWEEN HABSIGUDA X ROADS TO MALLAPUR X ROAD ON NACHARAM MALLAPUR MAIN ROAD , LHS	MEDCHAL MALKAJGIRI	Regular	200	OPEN CC 1	DC	25	20	800	32	75	Draw of Lots	15	5
110	BANDLAGUDA GOVT. SCHOOL ON ECIL - CHERIYAL X ROADS TO ST. ANDREWS SCHOOL		Regular			DC						Draw of Lots		4
111	TOWARDS HARIDAS PALLI, KEESARA MANDAL BETWEEN BACHUPALLY X ROADS AND Dr. B R AMBEDKAR CIRCLE ON MIYAPUR ROAD ON LHS	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI	Pogular	168 150	OBC OPEN	СС	25 25	20	800 600	32 32	75 12	Bidding	15 30	5
111	BETWEEN BACHOPALLY A ROADS AND DIT. B R AMBEDIAAR CIRCLE ON MIYAPUR ROAD ON LHS BETWEEN DR B R AMBEDIAAR CIRCLE AND BACHUPALLY X ROADS ON MIYAPUR ROAD ON LHS	MEDCHAL MALKAJGIRI	Regular Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	nension (in Site (in Sq.		1	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer fo	or the same.	1	lana	1	1				1		1	
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
113	IN BETWEEN HUBSIGUDA X ROAD TO NACHARAM X ROAD ON NACHARAM MALLAPUR MAIN		Regular			DC						Draw of Lots		
	ROAD, LHS JAWAHAR NAGAR POLICE STATION TO KRISHNANAGAR COLONY WELFARE ASSOCIATION	MEDCHAL MALKAJGIRI	Pos: la s	200	OPEN CC 1	-	25	20	800	32	75	Draw of Late	15	5
114	KAMAN, KAPRA MANDAL	MEDCHAL MALKAJGIRI	Regular	195	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
	ON RHS ON GUNDLAPOCHAMPALLY VILLAGE ROAD FROM AYODHYA X ROAD AND	WEB CHARE WAREN DOWN	Regular	133	050					0	0	Draw of Lots	0	3
115	GUNDLAPOCHAMPALLY MUNCIPAL OFFICE(PREVIOUSLY GUNDLAPOCHAMPALLY					CFS								-
	GRAMPANCHAYAT OFFICE)	MEDCHAL MALKAJGIRI		170	SC CC 1		25	20	600					
116	FROM SURANA CIRCLE TO CHERLAPALLY BUS STAND ON CHERLAPALLY MAIN ROAD	MEDCHAL MALKAJGIRI	Regular	180	OBC CC 1	DC	25	20	800	32	75	Draw of Lots	15	4
117	BETWEEN ZPHS DUNDIGAL AND GOVERNMENT VETERINARY HOSPITAL ON GOWDAVELLI DUNDUGAL ROAD	MEDCHAL MALKAJGIRI	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
118	IN BETWEEN HUBSIGUDA X ROAD TO NACHARAM X ROAD ON NACHARAM MALLAPUR MAIN		Regular			DC						Draw of Lots		
	ROAD, RHS	MEDCHAL MALKAJGIRI		200	OPEN CC 1		25	20	800	32	75	D' Litter	15	5
119 120	BOWENPALLY X ROADS TO SUCHITRA X ROADS ON NH 44 RHS FROM BAHADURPALLY X ROADS TO GANDIMAISAMMA X ROADS ON LHS	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI	Regular	200 150	OPEN OPEN	CC	25 25	20 20	600 600	32 32	12 12	Bidding Bidding	30 30	5
121	FROM BOLARAM CHECK POST TO RISALA BAZAAR	MEDCHAL MALKAJGIRI	Regular Regular	160	OPEN	CC	25	20	800	32	12	Bidding	30	5
122	FROM BOLLARAM CHECK POST TO DARGHA BUS STOP, KOWKOOR	MEDCHAL MALKAJGIRI	Regular	170	OPEN	CC	25	20	600	32	12	Bidding	30	5
123	FROM BOLLARAM CHECK POST TO HAKIMPET JUNCTION ON RHS	MEDCHAL MALKAJGIRI	Regular	175	OPEN	CC	25	20	600	32	12	Bidding	30	5
124	IN BETWEEN UPPAL JUNCTION AND CHENGICHERLA CROSS ROAD ON NH163 EITHER SIDE	MEDCHAL MALKAJGIRI	Regular	150	OPEN CC 1	DC	25	20	800	32	75	Draw of Lots	15	5
125	FROM ECIL CROSS ROAD TO SAINIKPURI CROSS ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	Regular	341	OPEN	CC	25	20	600	32	12	Bidding	30	5
126	FROM HQ TASA TO SAINIKPURI CROSS ROADS ON LHS VIA KANDIGUDA CHURCH	MEDCHAL MALKAJGIRI	Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5
127	FROM HQ TASA TO SAINIKPURI CROSS ROADS ON RHS VIA KANDIGUDA CHURCH IN BETWEEN UPPAL JUNCTION AND CHENGICHERLA CROSS ROAD ON NH163 RHS	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI	Regular	150 150	OPEN CC 1	CC DC	25 25	20 20	600 800	32 32	12 75	Bidding	15	5
128 129	FROM INDIRA GANDHI STATUE TO TELANGANA TALLI STATUE VIA TEMPLE ALWAL ROAD	MEDCHAL MALKAJGIRI	Regular Regular	190	OPEN CC 1	CC	25	20	600	32	12	Draw of Lots Bidding	30	5
	FROM INTERSECTION OF KOMPALLY- BOLLARUM ROAD AND NH44 TO MEDCHAL ORR EXIT ON	Crate ita iele della	Regular	150			1			1 32	T		1 30	
130	NH 44 RHS TOWARDS MEDCHAL	MEDCHAL MALKAJGIRI		200	OPEN	CC	25	20	600	32	12	Bidding	30	5
	FROM KARIMGUDA Y JUNCTION TO ECIL - KEESARA X ROAD VIA KUNDANPALLY ON EITHER SIDE	MEDCHAL MALKAJGIRI	Regular	150	OPEN	CC	25	20	800	32	12	Bidding	30	5
132	FROM THUMKUNTA TO THIMMAIPALLY ON SHAMIRPET KEESARA ROAD	MEDCHAL MALKAJGIRI	Regular	170	OBC PH	DC	25	20	800	32	75	Draw of Lots	15	4
133	FROM KARKHANA JUNCTION TO TELANGANA THALLI STATUE ON EITHER SIDE VIA TIRUMALGHERRY	MEDCHAL MALKAJGIRI	Regular	184	OPEN	СС	25	20	600	32	12	Bidding	30	5
134	FROM LOYOLA ACADEMY BUST STOP TO PROFESSOR JAYASHANKAR STATUE (SIDDIPET ROAD) VIA INDIRA GANDHI STATUE ON LHS	MEDCHAL MALKAJGIRI	Regular	210	OPEN	СС	25	20	600	32	12	Bidding	30	5
135	DAMMAIGUDA MUNCIPAL COUNCIL TO NAGARAM AAROGYA VANAM ON EITHER SIDE OF MAIN STREET	MEDCHAL MALKAJGIRI	Regular	179	ОВС	DC	25	20	600	32	75	Draw of Lots	15	4
136	ECIL CHOURASTA TO NAGARAM-DAMMAIGUDA X ROADS - LHS	MEDCHAL MALKAJGIRI	Regular	180	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
	FROM NTR STATUE, JAWAHAR NAGAR TO ARMY COLLEGE OF DENTAL SCIENCES ON EITHER SIDE		Regular									1		
137	VIA AMBEDKAR NAGAR MAIN ROAD	MEDCHAL MALKAJGIRI		160	OPEN	CC	25	20	800	32	12	Bidding	30	5
138	IN BETWEEN UPPAL JUNCTION TO AMBERPET JUNCTION ON LHS ON UPPAL-RAMANTHAPUR ROAD	MEDCHAL MALKAJGIRI	Regular	150	OPEN CC 1	DC	25	20	800	32	75	Draw of Lots	15	5
139	EITHER SIDE BETWEEN UPPAL JUNCTION AND LB NAGAR JUNCTION ON INNER RING ROAD	MEDCHAL MALKAJGIRI	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
140	FROM ORR EXIT 8 TO VIVEKANANDA STATUE ON ECIL KEESARA ROAD ON LHS	MEDCHAL MALKAJGIRI	Regular	185	OPEN	CC	25	20	800	32	12	Bidding	30	5
141	EITHER SIDE ON BODDUPPAL ROAD IN BETWEEN BR AMBEDKAR STATUE AND WARANGAL HIGHWAY	MEDCHAL MALKAJGIRI	Regular	250	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	Site (in Sq		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	in Lakns)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer fo		MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
142	FROM RAMANUJA STATUE TO KUSHAIGUDA POLICE STATION VIA ECIL FACTORY ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	Regular	230	OPEN	сс	25	20	800	32	12	Bidding	30	5
143	FROM HYDERABAD MANCHERIAL HIGHWAY TO SAINIKPURI CROSS ROADS ON RHS VIA RACHAKONDA COMMISSIONERATE	MEDCHAL MALKAJGIRI	Regular	175	OBC	DC	25	20	600	32	75	Draw of Lots	15	4
144	WITH IN 5KM FROM CHELMEDA YELLAMMA TEMPLE ON NH765DG TOWARDS RAMAYAMPET	MEDCHAL MALKAJGIRI	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
145	FROM SUCHITRA X ROADS TO LOYOLA COLLEGE ON ALWAL ROAD	MEDCHAL MALKAJGIRI	Regular	180	OPEN	CC	25	20	600	32	12	Bidding	30	5
146	FROM AKBAR ROAD AND BRIG SYED ROAD INTERSECTION TO TARBUND JUNCTION ON EITHER SIDE OF BRIG SYED ROAD	MEDCHAL MALKAJGIRI	Regular	180	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
147	FROM TELANGANA TALLI STATUE TO BOLLARAM CHECK POST, ON EITHER SIDE,ON HYDERABAD MANCHERIAL HIGHWAY	MEDCHAL MALKAJGIRI	Regular	163	OPEN	сс	25	20	600	32	12	Bidding	30	5
148	FROM DAMMAIGUDA MUNCIPAL COUNCIL TO INTERSECTION OF ECIL KEESARA ROAD AND DAMMAIGUDA X ROAD ON LHS VIA SAI CHANDRA COLONY JUNCTION		Regular			DC						Draw of Lots		4
149	FROM UPPAL CROSS ROAD TO HABSIGUDA CROSS ROAD VIA INNER RING ROAD, LHS	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI		220 250	OBC OPEN	СС	25 25	20	600 800	32 32	75 12	Diddian	15 30	5
	JEEDIMETLA POLICE STATION TO BHAGYARADHI JUNIOR COLLEGE ON JEEDIMETLA MAIN ROAD	MEDCHAL MALKAJGIRI	Regular	150	OPEN CC 1		25	20	600	32		Bidding	15	
150 151	FROM DAMMAIGUDA MUNCIPAL COUNCIL TO INTERSECTION OF ECIL KEESARA ROAD AND		Regular Regular		OBC	DC DC					75	Draw of Lots Draw of Lots	15	5
	DAMMAIGUDA X ROAD ON RHS VIA SAI CHANDRA COLONY JUNCTION FROM USHAMALLIPUDI ARCH NEAR BALANAGAR DCP OFFICE TILL TULSIVANAM APPARTMENTS	MEDCHAL MALKAJGIRI	Daniel I.	170	OBC		25	20	600	32	75		15	+
152	ON USHAMULLAPUDI ON GAJULARAMARAM ROAD	MEDCHAL MALKAJGIRI	Regular	262	OPEN	СС	25	20	600	32	12	Bidding	30	5
153	FROM VBR GARDENS TO GOPAL NAGAR KOMPALLY ROAD ON OLD ALWAL ROAD OR LAKSHMI ENCLAVE ROAD	MEDCHAL MALKAJGIRI	Regular	210	OPEN	СС	25	20	600	32	12	Bidding	30	5
154	FROM GHATKESAR ORR EXIT TO CHENGICHERLA X ROAD ON LHS ON NH163	MEDCHAL MALKAJGIRI	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
155	FROM GHATKESAR ORR EXIT TO CHENGICHERLA X ROAD ON RHS ON NH163	MEDCHAL MALKAJGIRI	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
156	IN BETWEEN NACHARAM MALLAPUR ROAD TO MRO OFFICE UPPAL VIA CHILKANAGAR MAIN ROAD ON EITHER SIDE	MEDCHAL MALKAJGIRI	Regular	150	OPEN	сс	25	20	800	32	12	Bidding	30	5
157	KALLAKAL TO MANOHARABAD TOLL PLAZA(TOOPRAN TOLL) ON RHS ON NH 44	MEDAK	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
158	FROM INTERSECTION OF GENOME VALLEY ROAD AND SH1 TO ALIABAD X ROAD ON LHS	MEDCHAL MALKAJGIRI	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
159	FROM INTERSECTION OF KOMPALLY- BOLLARUM ROAD AND NH44 TO MEDCHAL ORR EXIT ON NH 44 LHS TOWARDS MEDCHAL	MEDCHAL MALKAJGIRI	Regular	200	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
160	FROM INTERSECTION OF KOMPALLY- BOLLARUM ROAD AND NH44 TO SUCHITRA X ROADS	MEDCHAL MALKAJGIRI	Regular	250	OBC	DC	25	20	600	32	75	Draw of Lots	15	4
161	MRK ROAD ,LAKE VIEW HOMES TO KARMINAGAR HYDERABAD HIGHWAY JUNCTION, ALWAL	MEDCHAL MALKAJGIRI	Regular	190	OPEN	CC	25	20	600	32	12	Bidding	30	5
162	FROM INTERSECTION OF LOYOLA COLLEGE ROAD AND LOYOLA GROUNDS ROAD TO NH 44 VIA SAI ENCLAVE ROAD	MEDCHAL MALKAJGIRI	Regular	200	ОВС	DC	25	20	600	32	75	Draw of Lots	15	4
163	KALLAKAL TO MANOHARABAD TOLL PLAZA TOOPRAN TOLL ON LHS ON NH 44	MEDAK	Regular	180	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
164	FROM JEEDIMETLA BUS DEPOT TO JEEDIMETLA POLICE STATION ON LHS	MEDCHAL MALKAJGIRI	Regular	190	OBC	DC	25	20	600	32	75	Draw of Lots	15	4
165	ON BALAJI NAGAR MAIN ROAD FROM NTR STATUE CHENNAPUR TO KOWKOOR CHECK POST (INTERSECTION OF BALAJINAGAR MAIN ROAD AND YAPRAL MAIN ROAD/ KOWKOOR MAIN		Regular			СС								
	ROAD) FROM KOWKOOR DHARGA TO KOWKOOR CHECK POST, INTERSECTION OF BALAJINAGAR MAIN	MEDCHAL MALKAJGIRI	Regular	150	OPEN		25	20	600	32	12	Bidding Draw of Lots	30	5
166	ROAD FROM MEDCHAL BUS STAND TO MEDCHAL CHECKPOST ON NH 44	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI	_	190	OBC OBC	DC	25 35	20 35	600 1225	32	75		15	4
167		IVIEDCHAL IVIALKAJGIKI	Regular	150	UBC	DC	35	35	1225	32	95	Draw of Lots	15	+
168	FROM MEDCHAL CHECKPOST TO MEDCHAL ORR EXIT TOWARDS HYDERABAD ON NH-44 ON LHS	MEDCHAL MALKAJGIRI	Regular	205	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
169	ON EITHER SIDE FROM HABSIGUDA METRO STATION TO METTUGUDA METRO STATION	MEDCHAL MALKAJGIRI	Regular	250	OPEN	CC	25	20	600	32	12	Bidding	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir of the	Site (in Sq.		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	in Lakhs)
# Volumes	Z indicated are based on market conditions and may undergo change. Applicants are advised to m	aka thair aum accasmant	of notontial	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant													
The site		snouid nave firm offer to	Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Bidding		
170	KPHB 4TH PHASE MAIN ROAD, CONNECTING 5TH PHASE ROAD AND KUKATPALLY- HITEC CITY MAIN ROAD	MEDCHAL MALKAJGIRI	Regular	250	OPEN CC 1	DC	25	20	600	32	75	Draw of Lots	15	5
171	IN BETWEEN CHILKANAGAR X ROAD AND BR AMBEDKAR STATUE ON BODDUPPAL COLONY ROAD	MEDCHAL MALKAJGIRI	Regular	250	OBC PH	DC	25	20	800	32	75	Draw of Lots	15	4
172	ON BALAJI NAGAR ROAD FROM DAMMAIGUDA MUNCIPAL COUNCIL OFFICE TO NTR STATUE CHENNAPUR ,BALAJI NAGAR ROAD ON LHS	MEDCHAL MALKAJGIRI	Regular	220	OPEN CC 1	DC	25	20	600	32	75	Draw of Lots	15	5
173	ON FCI GODOWN ROAD ON EITHER SIDE BETWEEN MALLAPUR AND CHERLAPALLY BPCL		Regular			DC						Draw of Lots		
174	TERMINAL ON HT ROAD FROM INTERSECTION OF HT ROAD AND NH 44 TO VBR GARDENS	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI	Dec. Inc.	150 190	OPEN PH OPEN	CC	25 25	20 20	800 600	32 32	75 12	Bidding	15 30	5
1/4	ON KAPRA MAIN ROAD(SAKET ROAD) FROM DAMMAIGUDA MUNCIPAL COUNCIL TO RADHIKA	WEDCHAL WALKAJGIKI	Regular Regular	190	OPEN	CC	23	20	000	32	12	ышшіі	30	-
175	THEATER ON LHS	MEDCHAL MALKAJGIRI		200	OPEN	СС	25	20	600	32	12	Bidding	30	5
176	ON GUNROCK ROAD, FROM LIC BUILDING TO TEACHERS COLONY X ROADS	MEDCHAL MALKAJGIRI	Regular	180	SC	CFS	25	20	600	0	0	Draw of Lots	0	3
177	ON KAPRA MAIN ROAD(SAKET ROAD) FROM DAMMAIGUDA MUNCIPAL COUNCIL TO RADHIKA THEATER ON RHS	MEDCHAL MALKAJGIRI	Regular	200	OPEN	СС	25	20	600	32	12	Bidding	30	5
178	ON JAGADGIRIGUTTA ROAD FROM INTERSECTION OF QUTBULLAPUR MAIN ROAD AND JAGADGIRGUTTA ROAD TO VIVEKANANDA STATUE	MEDCHAL MALKAJGIRI	Regular	200	sc	CFS	25	20	600	0	0	Draw of Lots	0	3
179	ON KISTAMMA ENCLAVE ROAD FROM INTERSECTION OF OLD ALWAL ROAD/LOYOLA COLLEGE		Regular			СС								_
	ROAD AND KISTAMMA ENCLAVE ROAD TO TRACK ROAD	MEDCHAL MALKAJGIRI		180	OPEN		25	20	600	32	12	Bidding	30	5
180	ON KOMPALLY BOLLARUM ROAD FROM INTERSECTION OF KOMPALLY BOLLARUM ROAD AND NH44 TO RUKMINI ENCLAVE ARCH LHS	MEDCHAL MALKAJGIRI	Regular	200	OPEN	CC	25	20	800	32	12	Bidding	30	5
181	ON KPHB 5TH PHASE MAIN ROAD ,CONNECTING GREENHILLS ROAD AND KPHB 9TH PHASE ROAD	MEDCHAL MALKAJGIRI	Regular	300	OPEN	СС	25	20	600	32	12	Bidding	30	5
	ON KPHB ROAD NO 1 ,FROM NEXUS MALL TO KPHB KAMAAN AT OLD NH65 ENTRANCE	MEDCHAL MALKAJGIRI	Regular	200	OPEN	CC	25	20	600	32	12	Bidding	30	5
183	ON KOMPALLY BOLLARUM ROAD-FROM INTERSECTION OF KOMPALLY- BOLLARUM ROAD AND NH44 TO RUKMINI ENCLAVE ARCH RHS	MEDCHAL MALKAJGIRI	Regular	200	sc	CFS	25	20	800	0	0	Draw of Lots	0	3
184	ON LHS FROM BHARATH NAGAR METRO STATION TO BALANAGAR METRO STATION	MEDCHAL MALKAJGIRI	Regular	400	OPEN	CC	25	20	600	32	12	Bidding	30	5
	ON LHS ON GUNDLAPOCHAMPALLY VILLAGE ROAD FROM SNR GARDENS TO GUNDLAPOCHAMPALLY MUNCIPAL OFFICE(PREVIOUSLY GUNDLAPOCHAMPALLY GRAMPANCHAYAT OFFICE)	MEDCHAL MALKAJGIRI	Regular	180	OPEN	СС	25	20	600	32	12	Bidding	30	5
186	ON MAISAMMAGUDA ROAD ON EITHER SIDE, FROM APPAREL PARK ROAD TO DHOOLAPALLY ROAD	MEDCHAL MALKAJGIRI	Regular	270	OPEN	СС	25	20	800	32	12	Bidding	30	5
187	ON KPHB 6TH PHASE MAIN ROAD, BETWEEN JUNCTION CONNECTING TO VASANTHNAGAR		Regular			CFS				0	0	Draw of Lots	0	3
	MAIN ROAD AND KPHB CIRCLE ON BALAJI NAGAR ROAD FROM DAMMAIGUDA MUNCIPAL COUNCIL OFFICE TO NTR STATUE	MEDCHAL MALKAJGIRI	Regular	250	SC		25	20	600			Draw of Lots		
188	CHENNAPUR, BALAJI NAGAR ROAD ON RHS	MEDCHAL MALKAJGIRI	_	220	OPEN CC 2	DC	25	20	600	32	75		15	5
	ON MILITARY DAIRY FARM ROAD - FROM SIDDIPET ROAD TO SHOBA GARDENS ON EITHER SIDE ON KPHB 9TH PHASE ROAD, SUJANA MALL TO SURYAM NXT GEN SCHOOL	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI	Regular	250	OPEN SC	CC	25 25	20 20	600	32	12	Bidding	30	5
190 191	ON NEW MIRZALAGUDA X ROADS TO IOC OM SAI VAISHNAVI FILLING STATION, MALKAJGIRI ON		Regular Regular	180		CFS CC			600	0	0	Draw of Lots	-	
191	MALKAJGIRI ROAD	MEDCHAL MALKAJGIRI		250	OPEN		25	20	600	32	12	Bidding	30	5
192	ON VASANTH NAGAR MAIN ROAD KUKATPALLY, CONNECTING OLD NH 65 AND KPHB 9TH PHASE ROAD	MEDCHAL MALKAJGIRI	Regular	300	ST	CFS	25	20	600	0	0	Draw of Lots	0	3
193	ON LHS FROM BALANAGAR METRO STATION TO JNTU METRO STATION ROAD	MEDCHAL MALKAJGIRI	Regular	700	SC	CFS	25	20	600	0	0	Draw of Lots	0	3
194	THIMMAIPALLY X ROADS TO YADGARPALLY X ROADS ON SHAMIRPET - KEESARA ROAD	MEDCHAL MALKAJGIRI	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir of the	Site (in Sq		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	in Lakns)
1 # \/alumaa	Z	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	snouid nave iirm offer ic		MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
	ON LHS ON GUNDLAPOCHAMPALLY VILLAGE ROAD FROM APARNA PALM GROVE TO GUNDLAPOCHAMPALLY MUNCIPAL OFFICE(PREVIOUSLY GUNDLAPOCHAMPALLY		Regular			CFS				0	0	Draw of Lots	0	3
	GRAMPANCHAYAT OFFICE)	MEDCHAL MALKAJGIRI		180	sc	51.5	25	20	600					
	ON ORR SERVICE ROAD FROM SHAMIRPET - KEESARA ROAD TO KARIMGUDA ROAD ON RHS SERVICE ROAD	MEDCHAL MALKAJGIRI	Regular	165	OPEN	СС	25	20	800	32	12	Bidding	30	5
	WITHIN 2 KM FROM MOUNT OPERA TOWARDS VIJAYAWADA ON NH 65, RHS	MEDCHAL MALKAJGIRI	Regular	200	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
	ON RHS FROM BHARATH NAGAR METRO STATION TO BALANAGAR METRO STATION ROAD	MEDCHAL MALKAJGIRI	Regular	400	OPEN	CC	25	20	600	32	12	Bidding	30	5
	ON MILITARY DAIRY FARM ROAD FROM NH44 AND MILITARY DAIRY FARM ROAD INTERSECTION	WEDGINE WINEW GOIN	Regular	100	0. 2.1					0	0	Draw of Lots	0	3
199	TO TILL SHOBA GARDENS	MEDCHAL MALKAJGIRI	Regulai	250	sc	CFS	25	20	600	Ů		Diaw or Lots	Ů	
	ON PRAGATHINAGAR ROAD FROM 3 MONKEY JUNCTION TO OLD MUMBAY HIGHWAY ROAD	MEDCHAL MALKAJGIRI	Regular	230	SC	CFS	25	20	600	0	0	Draw of Lots	0	3
201	WITHIN 2 KM FROM NEERAJ INTERNATIONAL SCHOOL TOWARDS DEVARAYAMJAL VILLAGE, ON		Regular			CFS				0	0	Draw of Lots	0	3
	SAI GEETHA ASHRAMAM ROAD	MEDCHAL MALKAJGIRI		180	ST		25	20	800					
202	ON SH1 FROM BOLLARAM CHECK POST TO HAKIMPET ON LHS	MEDCHAL MALKAJGIRI	Regular	175	OPEN	CC	25	20	800	32	12	Bidding	30	5
203	WITHIN 3 KM FROM CHENGICHERLA X ROAD TOWARDS GHATKESAR ON HYD-WARANGAL		Regular			CFS				0	0	Draw of Lots	0	3
	HIGHWAY ON RHS	MEDCHAL MALKAJGIRI		200	ST CC 1	CF3	25	20	800					
204	ON QUTHBULLAPUR MAIN ROAD FROM BALNAGAR X ROAD TO INTERSECTION OF		Regular			CFS				0	0	Draw of Lots	0	3
204	JAGADGIRIGUTTA ROAD AND QUTHBULLAPUR MAIN ROAD ON BOTH SIDES	MEDCHAL MALKAJGIRI		300	SC	CF3	25	20	600					
	Within 2 Kms from Old safilguda to A S Rao Nagar	MEDCHAL MALKAJGIRI	Regular	180	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
206	ON RHS FROM BALANAGAR METRO STATION TO JNTU METRO STATION ROAD	MEDCHAL MALKAJGIRI	Regular	400	SC	CFS	25	20	600	0	0	Draw of Lots	0	3
207	PIPELINE ROAD - WITHIN 3 KM FROM RANGA THEATRE TOWARDS PETBASHIRABAD	MEDCHAL MALKAJGIRI	Regular	200	OPEN	CC	25	20	600	32	12	Bidding	30	5
	ON RHS FROM DABILPUR KAMAN TO MEDCHAL BUS STOP ON NH 44	MEDCHAL MALKAJGIRI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
209	Within 2 Kms from Old safilguda to Safilguda	MEDCHAL MALKAJGIRI	Regular	180	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
210	WITH IN 3 KMS FROM GANDIMAISAMMA X ROADS TO PRAGATI NAGAR ON MIYAPUR ROAD ON		Regular											
210	LHS	MEDCHAL MALKAJGIRI		150	OPEN	CC	25	20	600	32	12	Bidding	30	5
211	Within 2 Kms from Safilguda towards Neredmet	MEDCHAL MALKAJGIRI	Regular	250	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
	WITHIN 2 KMS from Bachuapally X Roads towards Nizampet on Nizampet Road on LHS	MEDCHAL MALKAJGIRI	Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5
	WITHIN 2 KMS FROM BACHUPALLY X ROADS TOWARDS MIYAPUR ON MIYAPUR ROAD ON LHS	MEDCHAL MALKAJGIRI	Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5
	WITHIN 2 KMS FROM BACHUPALLY X ROADS TOWARDS MIYAPUR ON MIYAPUR ROAD ON RHS	MEDCHAL MALKAJGIRI	Regular	150	OPEN	CC	25	20	800	32	12	Bidding	30	5
	WITHIN 2 KMS FROM DR B R AMBEDKAR CIRCLE TOWARDS KUKATPALLY ON PRAGATI NAGAR ROAD ON LHS	MEDCHAL MALKAJGIRI	Regular	150	OPEN	СС	25	20	600	32	12	Bidding	30	5
,	WITHIN 2 KMS FROM DR B R AMBEDKAR CIRCLE TOWARDS KUKATPALLY ON PRAGATI NAGAR	WIEDCHAL WALKAJOIKI	Regular	130	OFLIN	CC	- 23	20	000	32	12	Didding	30	+
	ROAD ON RHS	MEDCHAL MALKAJGIRI		150	OPEN	СС	25	20	600	32	12	Bidding	30	5
1 217 1	WITHIN 3 KM FROM CHENGICHERLA X ROAD TOWARDS GHATKESAR ON HYD-WARANGAL	MEDCHAL MANUSANCIE	Regular	200	CT.	CFS	35	20	000	0	0	Draw of Lots	0	3
	HIGHWAY ON LHS	MEDCHAL MALKAJGIRI	.	200	21		25	20	800		12	B' LE	20	 -
	WITHIN 2 KMS FROM GANDIMAISAMMA X ROADS TOWARDS DUNDIGAL ON LHS	MEDCHAL MALKAJGIRI	Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5
	WITHIN 2 KMS FROM NIZAMPET X ROADS TOWARDS BACHUPALLY ON NIZAMPET MAIN ROAD	MEDCHAL MALKAJGIRI	Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5
	WITHIN 2 KMS OF SBI IDA BOLLARAM BRANCH AND MIYAPUR ROAD JUNCTION ON IDA BOLLARAM ROAD	MEDCHAL MALKAJGIRI	Regular	210	OPEN	СС	25	20	600	32	12	Bidding	30	5
	WITHIN 2 KMS ON DHOOLAPALLY MAIN ROAD FROM INTERSECTION OF NH 44 AND		Regular	-20				<u></u>		1	1		- 55	1
	DHOOLAPALLY MAIN ROAD TOWARDS DHOOLAPALLY	MEDCHAL MALKAJGIRI		150	OPEN	CC	25	20	600	32	12	Bidding	30	5
,	WITHIN 3 KMS FROM INTERSECTION OF NH 44 AND ROAD TOWARDS DEVARAYAMJAL		Regular							1		Draw of Lots		1 -
1 222 1	(KOMPALLY AREA) ON MDR ROAD AND NOT ON NH.	MEDCHAL MALKAJGIRI		150	OPEN	DC	25	20	800	32	75		15	5
1 15		MEDCHAL MALKAJGIRI		300	OPEN	СС	25	20	600	32	12	Bidding	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	Site (in Sq.		1	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applican	t should have firm offer fo	or the same.				1			1	1		1	
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
224	FROM HYDERABAD MANCHERIAL HIGHWAY TO SAINIKPURI CROSS ROADS ON LHS VIA RACHAKONDA COMMISSIONERATE	MEDCHAL MALKAJGIRI	Regular	200	OPEN	сс	25	20	800	32	12	Bidding	30	5
225	FROM INTERSECTION OF HASHMATPET ROAD AND NH44 TO TIRUMALGHERRY X ROADS ON	**************************************	Regular	100	ODEN	СС	25	20	500		12	D: 44:	20	_
226	BOTH SIDES OF HASMATPET ROAD AND BOWENPALLY MARKET YARD ROAD. ON BALNAGAR MAIN ROAD FROM INTERSECTION OF APIIC ROAD AND BALNAGAR MAIN ROAD TO BOWENPALLY X ROADS ON LHS	MEDCHAL MALKAIGIRI	Regular	190	OPEN	СС	25	20	600	32	12	Bidding	30	5
227	TO BOWENPALLY X ROADS ON LIS ON BALNAGAR MAIN ROAD FROM INTERSECTION OF APIIC ROAD AND BALNAGAR MAIN ROAD TO BOWENPALLY X ROADS ON RHS	MEDCHAL MALKAJGIRI MEDCHAL MALKAJGIRI	Regular	230	OPEN	СС	25	20	600	32	12	Bidding	30	5
228	ON LHS FROM KALLAKAL TO MEDCHAL BUS STOP ON NH 44	MEDCHAL MALKAJGIRI	Regular	200	OPEN	DC	35	35	1225	32	95	Bidding Draw of Lots	15	5
	BETWEEN KOLLAPUR POLICE STATION AND SAINT MARY'S HIGH SCHOOL LHS TOWARDS		Regular	200	O. LIV		1 33	33	1223	32	- 33	Draw of Lots	15	
229	WANAPARTHY	NAGARKURNOOL		100	ОВС	DC	30	30	900	32	55		15	4
230	WITHIN 2KM FROM KOLLAPUR BUS STOP TOWARDS PENTLAVALLY ON PENTLAVALLY ROAD WITHIN KOLLAPUR MUNICIPAL TOWN LIMITS	NAGARKURNOOL	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
231	WITHIN 2KM FROM KOLLAPUR CROSS ROADS ON SH-20 TOWARDS NAGARKURNOOL	NAGARKURNOOL	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
232	WITHIN 2 KM FROM CHINNAMUDUNUR VILLAGE JUNCTION TOWARDS NAGARKURNOOL ON SH- 20	NAGARKURNOOL	Regular	105	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
233	WITHIN 3 KM FROM KOLLAPUR CROSS ROADS ON SH-20 TOWARDS ACHAMPET	NAGARKURNOOL	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
234	WITHIN 2 KMS FROM KODUPARTHY VILLAGE, TOWARDS NAGARKURNOOL ON SH-21	NAGARKURNOOL	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
235	WITHIN 3 KMS FROM NAGARKURNOOL BUS STAND WITHIN MUNCIPAL LIMITS	NAGARKURNOOL	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
236	WITHIN 3 KMS FROM ACHAMPET BUST STAND ON ACHAMPET- LINGAL ROAD WITHIN MUNCIPAL LIMITS (NOT ON NH/SH)	NAGARKURNOOL	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
237	WITHIN 2 KM FROM MUCHARLAPALLY BUS STOP ON NH-167 LHS ,JADCHERLA-KALWAKURTHY ROAD TOWARDS JADCHERLA	NAGARKURNOOL	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
238	Within 3 Kms on LHS on NH765 from intersection of NH167 and NH765 towards dindi	NAGARKURNOOL	Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
239	FROM CHINTHAPALLI THANDA TO ANUMULA - ON NH 167 , LHS	NALGONDA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
240 241	FROM KUKKADAM TO SETTIPALEM ON SH 2 LHS	NALGONDA	Regular Regular	150	OBC CC 1	DC DC	30	30	900	32	75	Draw of Lots Draw of Lots	15	4
	WITHIN NAKREKAL MUNICIPAL TOWN LIMITS (NOT ON SH/ NH)	NALGONDA		100	OBC		30	30	900	32	55		15	4
242	BUDDAVANAM TO PYLON COLONY ON NH565	NALGONDA	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
243	FROM CHERLAPALLI TO MAHATMA GANDHI UNIVERSITY ON SH2, LHS FROM CHERLAPALLI TO MAHATMA GANDHI UNIVERSITY ON SH2, RHS	NALGONDA NALGONDA	Regular	150	OBC OBC	DC	30	30 30	900	32 32	75 75	Draw of Lots	15 15	4
244	FROM CHERLAPALLI 10 MAHATMA GANDHI UNIVERSITY ON SH2, RHS FROM KATANGUR TO PAMANAGUNDLA ON NH65 ON -LHS	NALGONDA	Regular Regular	145 150	OBC	DC DC	35	35	1225	32	95	Draw of Lots Draw of Lots	15	4
245	FROM KONDRAPOLE TO RALLAVAGU THANDA ON SH-2 LHS	NALGONDA	Regular	155	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
247	Thallgadda to Yadgirpalli in Miryalguda Muncipal Limit	NALGONDA	Regular	100	OPEN CC 1	DC	30	30	900	32	55	Draw of Lots	15	5
248	WITH IN 3 KM FROM MAHATMA GANDHI TEMPLE, LHS OF NH65 TOWARDS HYDERABAD	NALGONDA	Regular	210	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
249	WITH IN 4 KM FROM KURMEDU X ROADS TOWARDS HYDERABAD - ON LHS ON SH19	NALGONDA	Regular	150	OPEN PH	DC	30	30	900	32	75	Draw of Lots	15	5
250	Thadakamalla X road towards yadgarpally road within miryalguda municipal limits	NALGONDA	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
251	WITH IN 4 KM FROM SAI BABA TEMPLE OF CHINTAPALLY TOWARDS KONDA MALLEPALLY - ON RHS SH19	NALGONDA	Regular	145	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
252	WITH IN 4KM FROM KANAGAL X ROAD ON SH 18, LHS - TOWARDS NALGONDA	NALGONDA	Regular	135	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
253	WITH IN 4KM FROM VEMULAPALLY POLICE STATION TOWARDS NALGONDA ON LHS ON SH2	NALGONDA	Regular	120	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
254	WITHIN 3 KM FROM HOTEL VIVERA ON NH65, LHS TOWARDS HYDERABAD	NALGONDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
255	Within 3 km from kondamallepalli junction twards Gundrampode on SH 18	NALGONDA	Regular	135	ST	CFS	30	30	900	0	0	Draw of Lots	0] 3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (ir Site (in Sq		1	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to market and a second and a second and a second are a second as a second													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	snould have firm offer fo	or the same.	ı	lone	1	1		I	1	I		1	
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
256	Within 4 KM from Mall towards kondamallepally on SH 19	NALGONDA	Regular	160	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
257	Within 4KM fromNH 565 - SH18 Junction towards gurrampode on SH 18	NALGONDA	Regular	120	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
258	FROM NAKREKAL TO KATHEPALLY ON NH 65 , LHS	NALGONDA	Regular	154	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
259	FROM NAKREKAL TO KORLAPAHAD TOLL GATE ON NH 65 - RHS	NALGONDA	Regular	184	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
260	FROM NIDAMANPOOR TO TRIPURARAM - ON NH 167 LHS	NALGONDA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
261 262	FROM PAMANAGUNDLA TO NARKETPALLY ON NH65 ON LHS KATTANGUR TO AITIPAMULA ON NH 65 ON LHS	NALGONDA NALGONDA	Regular	152 150	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots	15 15	5
262	KOPPOLE TO KANAGAL ON SH-18	NALGONDA	Regular	130	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
264	MADUGULAPALLE TO THIPPARTHY ON SH2, LHS	NALGONDA	Regular Regular	125	OPEN	DC	30	30	900	32	75	Draw of Lots Draw of Lots	15	5
265	Miryalguda Town within Muncipal Limits	NALGONDA	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
266	NAKREKAL TO AITIPAMULA ON NH 65 ON LHS	NALGONDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
267	PAMANAGUNDLA TO KATTANGUR ON NH 65 ON LHS	NALGONDA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
268	PANTHANGI TOLL GATE TO GUNDRAMPALLY VILLAGE ON -NH65 - LHS	NALGONDA	Regular	152	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
269	WITHIN 5 KMS FROM MAKTHAL BUS STAND TO TOLL GATE ON NH167 ON LHS TOWARDS MAHABUBNAGAR	NARAYANPET	Regular	200	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
270	2 KM FROM MAKTHAL BUSTAND TO NARAYANPET ROAD , WITHIN MAKTHAL MUNICIPAL LIMITS NOT ON NH.	NARAYANPET	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
271	WITH IN 2 KM FROM KACHWAR VILLAGE, TOWARDS MAHABUBNAGAR ON NH 167	NARAYANPET	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
272	WITHIN 3 KM FROM Singar ON SH22 TOWARDS MARIKA ROAD	NARAYANPET	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
273	ON EITHER SIDE FROM NIA OFFICE, MADHAPUR TO CANFEL PET CLINIC MADHAPUR ON VISHNU MARG	RANGA REDDY	Regular	250	OPEN	DC	25	20	600	32	75	Draw of Lots	15	5
274	ON EITHER SIDE OF 100 FEET ROAD OF AYYAPPA SOCIETY, MADHAPUR	RANGA REDDY	Regular	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
275	FROM SHAMSHABAD BUS STOP(NH 44- MAMIDIPALLE RD JUNCTION) TO MAMIDIAPALLE on shamshabad Mamidipalle road, within muncipality limits	RANGA REDDY	Regular	150	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
276	BETWEEN MIYAPUR METRO DEPOT ROAD JUNCTION AND VERTEX PRIME ON NIZAMPET- MIYAPUR ROAD	RANGA REDDY	Regular	150	OPEN	СС	25	20	600	32	12	Bidding	30	5
277	BETWEEN MIYAPUR X ROADS AND D-MART TOWARDS BACHUPALLY ON LHS	RANGA REDDY	Regular	150	OPEN	СС	25	20	600	32	12	Bidding	30	5
278	FROM BN REDDY NAGAR X ROAD TO INJAPUR CROSS ROAD ON NAGARJUNA SAGAR SH ON RHS	RANGA REDDY	Regular	200	OPEN	CC	25	20	800	32	12	Bidding	30	5
279	FROM CHAMPAPET SIGNAL TO SAGAR X CROSS ROAD ON CHMPAPET-BAIRAMALGUDA ROAD	RANGA REDDY	Regular	150	OPEN	CC	25	20	800	32	12	Bidding	30	5
280	ON OLD MUMBAI HIGHWAY ON EITHER SIDE FROM BIODIVERSITY PARK, HITEC CITY TO GACHIBOWLI CIRCLE	RANGA REDDY	Regular	250	ОВС	СС	25	20	600	32	12	Bidding	30	4
281	FROM EKRAJGUDA VILLAGE TO KARKALPAHAD VILLAGE ON LHS NH 765	RANGA REDDY	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
282	FROM EKRAJGUDA VILLAGE TO KARKALPAHAD VILLAGE ON RHS NH 765	RANGA REDDY	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
283	FROM MANGALPALLE TO KONGARKALAN VIA KONGARKALAN ROAD (NOT ON SH/NH)	RANGA REDDY	Regular	250	SC CC 1	CFS	25	20	800	0	0	Draw of Lots	0	3
284	FROM GURUNANAK INSTITUTION TO AGAPALLY ON RIGHT SIDE ON NAGARJUNASAGAR SH-19	RANGA REDDY	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
285	FROM HIMAYATHNAGAR JN TO TSPA JN ON NH 163 FROM INDIAN OIL SAI PRAKASH FILLING STATION TO VATTINAGULAPALLE VIA GOPANPALLY	RANGA REDDY	Regular Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	1 5
286	CHOWRASTHA ON KANCHI GACHIBOWLI ROAD	RANGA REDDY		250	OPEN	СС	25	20	600	32	12	Bidding	30	5
287	NALLAVELLY X ROAD TO YACHARAM ON SH19 ON LHS TOWARD HYDERABAD	RANGA REDDY	Regular	124	ST PH	CFS	30	30	900	0	0	Draw of Lots	0	3
288	From Pillar no 120 to P no. 150 of PVNR EXPRESSWAY on Mehdipatnam-Airport main road	RANGA REDDY	Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
289	FROM RAMACHANDRAPURAM POLICE STATION TO LINGAMPALLI SO POST OFFICE ON LINGAMPALLY ROAD	RANGA REDDY	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5
290	FROM BHASKAR MEDICAL COLLEGE TO SBI BANK MOINABAD, LHS on NH 163	RANGA REDDY	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	nension (in Site (in Sq.			arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to ma													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer to	or the same.											
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
291	WITHIN 2 KMS FROM KUNTLOOR JUNCTION TOWARDS PEDDAMBERPET VIA PEDAMBERPET		Regular			CFS				0	0	Draw of Lots	0	3
	ROAD(NOT ON NH65)	RANGA REDDY		180	ST CC 1		25	20	800				+	
292	FROM SADHANA INFINITY INTERNATIONAL SCHOOL NALLAGANDLA TO TELLAPUR CIRCLE VIA NALLAGANDLA TELLAPUR ROAD	RANGA REDDY	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
	FROM TELLAPUR CIRCLE TO GOPANPALLY THANDA CHOWRASTHA VIA NALLAGANDLA-TELLAPUR	KANGA KEDDI	Pogular	230	OPEN		25	20	000	32	12	ышину	30	1 3
293	ROAD	RANGA REDDY	Regular	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
294	From Mailardevpally – Airport Rd Jn. To Mamidipalle- Airport Rd Jn. On main Airport road	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
295	IN BETWEEN IBRAHIMPATNAM AND AGAPALLY ON NAGARJUNASAGAR SH 19 ON EITHER SIDE	RANGA REDDY	Regular	200	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
296	IN BETWEEN KUNTLOOR JUNCTION TOWARD HAYATHNAGAR VIA KUNTLOOR ROAD, RHS	RANGA REDDY	Regular	150	OPEN	CC	25	20	800	32	12	Bidding	30	5
297	IN BETWEEN KUNTLOOR JUNCTION AND NH65 VIA PEDDAMBERPET ROAD(NOT ON NH65)	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
298	MIYAPUR CROSS ROAD TO BACHUPALLY WITHIN 2 KMS ON RHS	RANGA REDDY	Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5
299	IN BETWEEN ZEE HIGH SCHOOL(HAYATHNAGAR-KHALSA) AND NH65 VIA BOGGULA SATHIREDDY COMPLEX ROAD NOT ON NH65	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
300	ON CONNECTING ROAD FROM ADIBATLA TO BONGLOOR ORR SERVICE ROAD	RANGA REDDY	Regular	150	OPEN	CC	25	20	800	32	12	Bidding	30	5
301	ON EITHER SIDE FROM ALLWYN CROSS ROADS TO RTA OFFICE, KONDAPUR ON GACHIBOWLI MIYAPUR ROAD	RANGA REDDY	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
302	From Narsingi Circle to Ocean Park , within Narsingi municipal limits outside ORR	RANGA REDDY	Regular	110	SC CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
303	From Aramghar X roads to Mailardevpally via Mailardevpally police station raod on RHS in Rangareddy dist	RANGA REDDY	Regular	180	OBC CC 1	DC	25	20	800	32	75	Draw of Lots	15	4
304	Vittaipally X Road to Ramnunthala on LHS on NH 765	RANGA REDDY	Regular	154	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
305	ON EITHER SIDE FROM KOTHAGUDA CROSS ROAD TO DURGAM CHERUVU METRO STATION VIA HITECH CITY METRO STATION	RANGA REDDY	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
306	Within 2 km of Shadnagar Bus Stand on Hajipallli Road in Shadnagar Municipality	RANGA REDDY	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
307	ON EITHER SIDE FROM RTA OFFICE, KONDAPUR TO GACHIBOWLI CIRCLE ON GACHIBOWLI		Regular			СС						L		_
	MIYAPUR ROAD	RANGA REDDY	h	250	OPEN		25	20	600	32	12	Bidding	30	5
308	ON EITHER SIDE FROM SUNSHINE HOSPITALS DARGAH ROAD TO BIODIVERSITY PARK HITECH ON EITHER SIDE OF ISB ROAD FROM JUNCTION OF OLD MUMBAI HIGHWAY & ISB ROAD TO	RANGA REDDY	Regular	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
309	NEHRU ORR EXIT 1	RANGA REDDY	Regular	250	OPEN	DC	25	20	600	32	75	Draw of Lots	15	5
310	ON EITHER SIDE OF ORR SERVICE ROAD FROM KOKAPET TOLL PLAZA TO VATTINAGULLAPALLY	RANGA REDDY	Regular	250	OPEN	СС	25	20	600	32	12	Bidding	30	5
311	FROM PILLAR NO 213 to Pillar no. 317 OF PVNR expressway ON LHS	RANGA REDDY	Regular	150	SC CC 1	CFS	25	20	800	0	0	Draw of Lots	0	3
	ON EITHER SIDE OF WIPRO CIRCLE ROAD FROM CENTAURUS BY PHOENIX TO GOPANPALLY		Regular		1				-50	l	<u> </u>	2.000 0. 200	†	† – –
312	THANDA CHOWRASTA	RANGA REDDY		250	OPEN	CC	25	20	600	32	12	Bidding	30	5
313	Agapalle village to Gungal village on SH 19 on RHS	RANGA REDDY	Regular	150	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
314	ON ESCI ROAD BETWEEN DELHI PUBLIC SCHOOL KHAJAGUDA AND CARE HOSPITALS GACHIBOWLI ROAD	RANGA REDDY	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
315	B.N.REDDY NAGAR SIGNAL TO VANASTALIPURAM ENTRANCE GATE, INNER ROAD VIA NGO'S COLONY (NOT ON NH65 & SH19)	RANGA REDDY	Regular	150	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
316	Chatanpally Village, Shadnagar Municipaliy on Shadnagar to Dooskal Road	RANGA REDDY	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
317	CONNECTING ROAD BETWEEN KOTHAPET IN TO NAGOLE SIGNAL IN ON KOTHAPET ROAD(NOT ON NH 65)	RANGA REDDY	Regular	150	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
	FROM PILLAR NO. 180 TO PILLAR NO. 265 of PNVR expressway ON RHS OF ATTAPUR- AIRPORT		Regular	130	1550	DC			230	32	,,,	Draw of Lots	13	— •

SI. No.	Orporation Limited (IOCL) proposes to appoint Retail Outlet dealers in TELANGANA State as per formal Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	Site (in Sq		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1 # \/al	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to ma should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant													
THE SILE	Should entire be owned of on lease with applicant for minimum 15 years 11 months of Applicant	siloulu liave ili ili oliei il	or the same.		ОВС	1								
			Regular / Rural	MS + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
319	FROM BADANGPET OLD GRAM PANCHAYAT OFFICE TO BALAPUR- AIRPORT ROAD	RANGA REDDY	Regular	150	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
320	FROM BADANGPET OLD GRAM PANCHAYAT OFFICE TOWARDS RCI ROAD VIA BADANGPET- BALAPUR ROAD	RANGA REDDY	Regular	150	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
321	FROM BALAPUR X ROAD TOWARDS INNER RING ROAD VIA RCI ROAD ON LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
322	ON KHAJAGUDA NANAKRAMGUDA ROAD BETWEEN OJAS INNOVATIVE TECHNOLOGIES PVT AND		Regular		OPEN	СС							30	5
323	HMDA OFFICE KHAJAGUDA FROM BALAPUR X ROAD TOWARDS INNER RING ROAD VIA RCI ROAD ON RHS	RANGA REDDY RANGA REDDY	Pogular	250 200	OBC	DC	25 25	20	600 800	32 32	75	Bidding Draw of Late	15	4
323	FROM BALAPUR X ROAD TOWARDS INNER RING ROAD VIA RCI ROAD ON MIS	RANGA REDDY	Regular Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots Draw of Lots	15	4
	From Pillar no. 293 to GHMC Office (on Rajendra Nagar road) via Indian Society of agricultural	TO THE OF THE DEST	Regular	150	000		- 25		000	- 32	,,,	Draw of Lots	13	
325	marketing road	RANGA REDDY		150	ОВС	DC	25	20	800	32	75		15	4
326	FROM BHASKAR MEDICAL COLLEGE TO SBI BANK MOINABAD, RHS on NH 163	RANGA REDDY	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
327	FROM BN REDDY NAGAR X ROAD TO INJAPUR CROSS ROAD ON NAGARJUNA SAGAR SH ON LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
328	IN BETWEEN MEERPET CROSS ROAD TO AMBEDKAR STATUE CIRCLE VIA JILLELAGUDA ROAD	RANGA REDDY	Regular	250	OBC CC 1	DC	25	20	800	32	75	Draw of Lots	15	4
329	FROM BN REDDY NAGAR X ROAD TO SAGAR RING CROSS ROADS ON NAGARJUNASAGAR SH, ON LHS	RANGA REDDY	Regular	150	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
330	FROM BN REDDY NAGAR X ROAD TO SAGAR RING CROSS ROADS ON NAGARJUNASAGAR SH, ON		Regular			DC						Draw of Lots		
	RHS	RANGA REDDY		150	OBC		25	20	800	32	75	D' I I'	15	4
331	ON NH65 ON EITHER SIDE FROM MIYAPUR METRO STATION TO BHEL CROSS ROAD	RANGA REDDY	Regular	250	OPEN OBC	CC	25 25	20	600	32 32	12	Bidding	30 15	5 4
332 333	FROM CHAMPAPET SIGNAL TO SAGAR X ROAD ON CHAMPAPET ROAD,LHS FROM CHATTANPALLE TO RAIKAL (LHS) ON NH44	RANGA REDDY RANGA REDDY	Regular	180 150	OBC	DC DC	35	35	800 1225	32	75 95	Draw of Lots Draw of Lots	15	4
	ON OLD MUMBAI HIGHWAY ON EITHER SIDE FROM GACHIBOWLI CIRCLE TO SPORTS	NANGA NEDDI	Regular Regular	130	ОВС		33	33	1223	32	93	DIAW OF LOTS	13	-
334	AUTHORITY OF TELANGANA STATE GACHIBOWLI	RANGA REDDY	cguiui	250	OPEN	CC	25	20	600	32	12	Bidding	30	5
335	FROM CHEVELLA SHANKARPALLY X RD TO NARSINGI ON SHANKARPALLY HYDERABAD RD ON RHS (INSIDE ORR)	RANGA REDDY	Regular	330	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
336	ON OLD MUMBAI HIGHWAY ON EITHER SIDE FROM SPORTS AUTHORITY OF TELANGANA GACHIBOWLI TO LINGAMPALLY SO POST OFFICE	RANGA REDDY	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
337	FROM CHEVELLA SHANKARPALLY X RD TO NARSINGI ON SHANKARPALLY HYDERABAD RD ON LHS		Regular	240	OBC	DC	25	20	800	32		Draw of Lots	15	4
338	(Inside ORR) ON ORR SERVICE ROAD (INSIDE ORR) FROM RAJENDRA NAGAR TOLL PLAZA TO TSPA TOLL PLAZA	RANGA REDDY RANGA REDDY	Regular	150	OPEN	СС	25	20	800	32	75 12	Bidding	30	5
339	FROM GANDIGUDA TO PEDDATOPRA (LHS) ON NH 44	RANGA REDDY	Regular	170	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
340	FROM DILSUKNAGAR TO GADDIANNARAM CONNECTING ROAD VIA ASIAN SHIVAGANGA THEATRE (NOT ON NH65) - LHS	RANGA REDDY	Regular	150	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
341	FROM SHANKARPALLY TO DHOBIPET ON MAIN ROAD IN SHANKARPALLE MUNICIPALITY	RANGA REDDY	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
342	FROM HAYATHNAGAR BUS STOP TO AUTONAGAR SIGNAL ON NH65, LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
343	FROM HAYATHNAGAR LAKE TO INJAPUR X ROAD VIA INJAPUR ROAD	RANGA REDDY	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
344	From Hyd chevella road intersection(NH 163) with Kismatpur road to Budwel on Kismathpur road via Kismathpur Gram Panchayat Office	RANGA REDDY	Regular	200	ОВС	DC	25	20	800	32	75	Draw of Lots	15	4
345	ON SESHADRI MARG, KONDAPUR FROM JUNCTION OF KMR EST ROAD & SESHADRI MARG TO JUNCTION OF SESHADRI MARG & GACHIBOWLI-MIYAPUR ROAD	RANGA REDDY	Regular	250	OPEN	сс	25	20	600	32	12	Bidding	30	5
346	IN BETWEEN MEERPET TO TKR KAMAN VIA TKR COLLEGE ROAD	RANGA REDDY	Regular	250	OBC CC 1	DC	25	20	800	32	75	Draw of Lots	15	4
347	FROM IMAMGUDA TO THUMMALOOR ON NH 765	RANGA REDDY	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
348	FROM INJAPUR CROSS ROAD TO TURKYAMJAL ON NAGARJUNASAGAR SH19 ON LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	32	75	Draw of Lots	15	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir of the	nension (ir Site (in Sq.		1	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
# Volumes	indicated are based on market conditions and may undergo change. Applicants are advised to ma	ke their own assesment	of petential.											
* The site s	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer fo	or the same.											
			Regular / Rural		OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 ST CC 1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
349	P.R.T.U Colony, meerpet village, Saroonagar Mandal, Meerpet to Teachers colony main road	RANGA REDDY	Regular	230	OPEN	CC	25	20	800	32	12	Bidding	30	5
350	RHS From Chevella Shankarpally crossroad to TSPA Jn , on main hyd chevella highway	RANGA REDDY	Regular	370	OPEN	CC	25	20	800	32	12	Bidding	30	5
351	WITHIN 2 KM FROM RAMOJI FILM CITY TOWARDS VIJAYAWADA ON NH65 RHS	RANGA REDDY	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
352	ON SAIDABAD MAIN ROAD 2KMS FROM SANTOSH NAGAR CROSS ROADS, EITHER SIDE	RANGA REDDY	Regular	150	OPEN CC 2	DC	25	20	800	32	75	Draw of Lots	15	5
353	IN BETWEEN MEERPET X ROAD AND SAANVI PG COLLEGE FOR WOMEN ON BADANGPET ALMASGUDA ROAD	RANGA REDDY	Regular	180	OBC CC 1	DC	25	20	800	32	75	Draw of Lots	15	4
354	FROM INJAPUR X ROAD TO BONGLOOR ORR ON NAGARJUNASAGAR SH ON LHS	RANGA REDDY	Regular	200	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
355	FROM KANAKAMAMIDI ROAD intersection with Chevella road TO TOLKATTA ROAD intersection with Chevella road , ON NH 163	RANGA REDDY	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
356	WITHIN 3KM FROM SBI BANK MOINABAD TOWARDS CHEVELLA ON MOINABAD-CHEVELLA NH 163	RANGA REDDY	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
357	WITHIN 2 KMS FROM PEDDA AMBERPET ORR EXIT TOWARDS VIJAYAWADA ON NH 65, RHS	RANGA REDDY	Pogular	250	SC PH	CFS	35	35	1225			Draw of Late	0	3
	IN BETWEEN SAHEBNAGARKALAN TOWARDS HAYATHNAGAR VIA SAHENAGAR KALAN-	NANGA REDUT	Regular Regular	230	JC FII	CFS	1 33	- 33	1223	0	0	Draw of Lots Draw of Lots	U	+ 3 -
358	HAYATHNAGAR ROAD	RANGA REDDY	_	250	ОВС РН	DC	25	20	800	32	75		15	4
359	FROM KOHEDA X ROAD TOWARDS PEDDAMBERPET VIA SANGHI ROAD (NOT ON SH/NH)	RANGA REDDY	Regular	250	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
360	FROM KOTHAGUDEM TO TUPRANPET ON NH65 ON LHS	RANGA REDDY	Regular	200	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
361	KOHEDA ROAD(CONNECTING ROAD BETWEEN NAGARJUNASAGAR SH TILL ORR SERVICE ROAD (NOT ON SH/NH)	RANGA REDDY	Regular	180	OPEN CC 1	DC	25	20	800	32	75	Draw of Lots	15	5
362	WITHIN 2 KM ON KORREMULA ROAD FROM HYD-WARANGAL HIGHWAY TOWARDS KORREMULA GRAM PANCHAYATH (NOT ON SH/NH)	RANGA REDDY	Regular	200	SC CC 1	CFS	25	20	800	0	0	Draw of Lots	0	3
363	RHS from Shamshabad ORR Toll Plaza to Peddatopra on NH44	RANGA REDDY	Regular	170	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
364	From Kothur to Nandigama Police Station on Shadnagar to Kothur Road (Not on NH)	RANGA REDDY	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
365	FROM KOTHUR VILLAGE TO EKRAJGUDA VILLAGE ON NH765	RANGA REDDY	Regular	231	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
	WITHIN 4 KM FROM PEDAMBERPET ORR TOWARDS LB NAGAR ON NH65,RHS	RANGA REDDY	Regular	200	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
	LHS From Chevella Shankarpally crossroad to TSPA Jn , on main hyd chevella highway	RANGA REDDY	Regular	370	OPEN CC 1	DC	25	20	800	32	75	Draw of Lots	15	5
368	FROM KPHB 13TH PHASE ROAD,& HAFEEZPET ROAD JUNCTION TO JNTU METRO VIA VASANTH NAGAR MAIN ROAD	RANGA REDDY	Regular	250	sc	CFS	25	20	600	0	0	Draw of Lots	0	3
369	WITHIN 4 KM FROM ORR TOWARDS IBRAHIMPATNAM ON NAGARJUNASAGAR SH 19 ON EITHER SIDE		Regular		ст	CFS		30		0	0	Draw of Lots	0	3
370	FROM KURMALGUDA TO TUKKUGUDA ON NH 765	RANGA REDDY RANGA REDDY	Pogular	200 250	SC	CFS	30 25	20	900 800	1	1	Draw of Late	0	3
371	FROM L B NAGAR JUNCTION TO ALKAPURI X ROAD ON INNER RING ROAD	RANGA REDDY	Regular Regular	150	SC	CFS	25	20	800	0	0	Draw of Lots Draw of Lots	0	3
	On airport road connecting NH 44 and NH 765 via Rajiv Gandhi International Airport road	RANGA REDDY	Regular	310	OPEN	CC	25	20	800	32	12	Bidding	30	5
373	WITHIN 4 KM FROM THORRUR LAKE TOWARDS KOHEDA VIA THORRUR ROAD (NOT ON SH/NH)	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
374	FROM THIMMAPUR TO LV PRASAD NATCO EYE CENTRE ROAD-NH44 INTERSECTION (LHS) ON NH44		Regular			DC						Draw of Lots		
		RANGA REDDY RANGA REDDY	Decides	160 224	OBC SC	CFS	35 25	35 20	1225 800	32 0	95	Danii of Late	15	3
375 376	FROM Langerguda TO SHAMSHABAD BUS STOP ON NH44 LHS GAUTHAM NAGAR COLONY, VANASTHALIPURAM	RANGA REDDY	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	0 15	4
376	LHS from PEDDATOPRA TO THIMMAPUR ON NH 44	RANGA REDDY	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots Draw of Lots	15	5
377	WITHIN 4 KMS FROM BALAPUR X ROAD TOWARDS BADANGPET VIA BADANGPET ROAD	RANGA REDDY	Regular	150	ST	CFS	25	20	800	0	0	Draw of Lots	0	3
378	GURRAMGUDA VILLAGE	RANGA REDDY	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
380	FROM LB NAGAR JUNCTION TO MOOSARAMBAGH METRO STATION ON NH 65, LHS	RANGA REDDY	Regular Regular	200	SC	CFS	25	20	800	0	0	Draw of Lots	0	3
381	IN BETWEEN AUTONAGAR TO LB NAGAR CROSS ROADS (LHS) ON NH65	RANGA REDDY	Regular	200	OBC	CC	25	20	800	32	12	Bidding	30	4
	RHS FROM GAGANPAHAD TO SHAMSHABAD BUS STOP ON NH 44	RANGA REDDY	Regular	250	OPEN CC 2	DC	25	20	800	32	75	Draw of Lots	15	5
302	ALIST NOW OF CAME AND TO STRAIGHT DAY DOS STOLEN ON THE TEXT	MANGANEDUI	neguiai	230	O. LIV CC Z				000	J- 32	1 ,,	In aw or rors	1.5	

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	mension (ir Site (in Sq.		Finance to be a	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer f	or the same.		Iono	1			1		1	1		1
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
383	WITHIN 2 KMS FROM PEDDA AMBERPET ORR EXIT TOWARDS VIJAYAWADA ON NH 65, LHS	RANGA REDDY	Regular	200	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
384	IN BETWEEN BAIRAMALGUDA TO SANTOSHNAGAR X ROAD ON INNER IRING ROAD ON RHS	RANGA REDDY	Regular	150	OBC	CC	25	20	800	32	12	Bidding	30	4
385	IN BETWEEN BAIRAMALGUDA TO SANTOSHNAGAR X ROAD ON HINER RING ROAD ON LHS	RANGA REDDY		150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
386	WITHIN SHADNAGAR MUNICIPAL LIMITS From SHADNAGAR BUS DEPOT TOWARDS ELIKATTA Road	RANGA REDDY	Regular Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
387	IN BETWEEN BALAPUR POLICE STATION AND NH765 VIA BARKAS ROAD	RANGA REDDY	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
388	ON EITHER SIDE FROM MINDSPACE ROAD GACHIBOWLI MIYAPUR ROAD JUNCTION TO ITC KOHINOOR, KNOWLEDGE CITY ROAD	RANGA REDDY	Regular	250	OPEN CC 1	DC	25	20	600	32	75	Draw of Lots	15	5
389	IN BETWEEN INFOSYS SEZ CAMPUS AND NH163 VIA ANNOJIGUDA INFOSYS ROAD	RANGA REDDY	Regular	250	OBC	DC	25	20	600	32	75	Draw of Lots	15	4
390	IN BETWEEN INJAPUR KAMAN AND TOROOR VIA INJAPUR-TOROOR ROAD	RANGA REDDY	Regular	200	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
391	IN BETWEEN LB NAGAR METRO STATION TO MOOSARAMBAGH METRO STATION ON NH65.LHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
392	IN BETWEEN SHIVAJI CHOWK AND RCI AIRPORT CIRCLE VIA BALAPUR AIRPORT ROAD	RANGA REDDY	Regular	150	OBC PH	DC	25	20	800	32	75	Draw of Lots	15	4
393	WITHIN 3 KMS FROM PEERZADIGUA KAMAN TOWARDS PEERZADIGUDA VIA PEERZADIGUDA ROAD	RANGA REDDY	Regular	200	ST PH	CFS	25	20	800	0	0	Draw of Lots	0	3
394	IN BETWEEN LB NAGAR METRO STATION TO MOOSARAMBAGH METRO STATION ON NH65,RHS	RANGA REDDY	Regular	200	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
395	IN BETWEEN MANSOORABAD TO ANAND NAGAR X ROAD VIA BANDLAGUDA ROAD	RANGA REDDY	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
396	IN BETWEEN MANSOORABAD TO KAMINENI HOSPITAL VIA MANSOORABAD ROAD	RANGA REDDY	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
397	ON LHS FROM DILSUKNAGAR BUS STAND TO LB NAGAR JN ON NH65	RANGA REDDY	Regular	250	OPEN CC 1	DC	25	20	800	32	75	Draw of Lots	15	5
398	IN BETWEEN MANSOORABAD TO VANASTHALIPURAM VIA MANSOORABAD ROAD	RANGA REDDY	Regular	150	OBC	DC	25	20	800	32	75	Draw of Lots	15	4
399	BETWEEN AMEENPUR MRO OFFICE TO BACHPAN & ACADEMIC HEIGHTS PUBLIC SCHOOL ON KRISHNAREDDY PET RD	SANGAREDDY	Regular	150	OPEN	сс	25	20	600	32	12	Bidding	30	5
400	BETWEEN MSN LABORATORIES PVT. LTD. ONCOLOGY DIVISION TO PATANCHERU YELLAMMA		Regular			СС								
400	TEMPLE ON PATANCHERU-SHANKARPALLI RD	SANGAREDDY		150	OPEN		25	20	600	32	12	Bidding	30	5
401	BETWEEN PATANCHERU BUS STAND AND BEERAMGUDA KAMAN ON NH-65 ON LHS	SANGAREDDY	Regular	150	OPEN	CC	25	20	600	32	12	Bidding	30	5
402	BETWEEN PATANCHERU TOLL GATE AND ISNAPUR X ROADS ON NH-65 ON LHS	SANGAREDDY	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
403	BETWEEN SRIDEVI THEATRE AND FUSION INTERNATIONAL SCHOOL ON AMEENPUR ROAD	SANGAREDDY	Regular	150	OPEN	cc	25	20	600	32	12	Bidding	30	5
404	FROM BEERAMGUDA KAMAN TO BHEL CROSS ROAD ON NH-65 ON LHS	SANGAREDDY	Regular	150	OPEN	cc	25	20	600	32	12	Bidding	30	5
405	On the road connecting Sivampet Village to Jogipet Village on NH161 on LHS from Sivampet village to Jogipet Village direction	SANGAREDDY	Regular	160	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
406	WITHIN 2 KM FROM ISNAPUR X ROADS TOWARDS PATANCHERU ON NH 65 ON LHS	SANGAREDDY	Regular	200	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
407	On the SH road connecting Vatpally Village to Medikunda Village	SANGAREDDY	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
408	KANDI JUNCTION TO POTHREDDIPALLY X ROAD ON NH65(ON LHS FROM KANDI TO SANGAREDDY)	SANGAREDDY	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
409	KANDI JUNCTIONTO POTHIREDDIPALLY X ROAD ON NH65(ON RHS FROM KANDI TO SANGAREDDY)	SANGAREDDY	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
410	RUDRARAM TO KANDI X ROAD ON LHS ON NH65 TOWARDS SANGAREDDY	SANGAREDDY	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
411	SADASHIVPET TO POTHIREDDYPALLY X ROAD ON NH65(ON LHS FROM ZAHEERABAD TO SANGAREDDY)	SANGAREDDY	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
412	SADASHIVPET TOWN WITHIN MUNCIPAL LIMITS (NOT ON SH/NH)	SANGAREDDY	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
413	WITH IN 2 KM FROM RUDRARAM POST OFFICE ON NH 65 TOWARDS SANGAREDDY ON LHS	SANGAREDDY	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
414	WITH IN 2 KMS FROM TELLAPUR RAILWAY STATION ON RADIAL ROAD 7 WITH IN 2 KMS FROM TELLAPUR RD JUNCTION ON SPACE STATION ROAD TOWARDS OSMAN	SANGAREDDY	Regular Regular	150	OPEN	СС	25	20	600	32	12	Bidding	30	5
	NAGAR	SANGAREDDY	1	150	OPEN		25	20	600	32	12	Bidding	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	mension (in Site (in Sq.		Finance to be a	arranged by the	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer f	or the same.										1	
			Regular / Rural	MS + HSD in KI	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
416	WITHIN 1 KM FROM SADASHIPET- NIZAMPUR JUNCTION TOWARDS SADASHIVPET (NOT ON SH/NH)	SANGAREDDY	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
417	WITHIN 3 KMS FROM POCHAMMA TEMPLE ARCH ON PATANCHERU-SHANKARPALLI RD (NOT ON	CANCADEDDY	Regular	100	ODEN	DC	20	20	000	22		Draw of Lots	15	5
418	SH/NH) ZAHEERABAD TOWN WITHIN MUNCIPAL LIMITS (NOT ON SH/NH)	SANGAREDDY SANGAREDDY	Dec. Inc.	100 100	OPEN OPEN	DC	30 30	30	900 900	32 32	55 55	Danis of the tra	15 15	5
418	SANGAREDDY TOWN ON BYPASS ROAD WITHIN MUNCIPAL LIMITS (NOT ON SH/NH)	SANGAREDDY	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
420	SANGAREDDY TOWN ON NH161 WITHIN MUNCIPAL LIMITS	SANGAREDDY	Regular Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
421	On the road connecting Sivampet Village to Jogipet Village on NH161 on RHS from Sivampet village to Jogipet Village direction	SANGAREDDY	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
422	FROM VANTIMAMIDI TO GOWRARAM SH-1- RHS	SIDDIPET	Regular	100	ST CC 1	CFS	30	30	900	0	0	Draw of Lots	0	3
423	With in Dubbak Muncipality limits NOT ON SH	SIDDIPET	Regular	100	ST PH	CFS	30	30	900	0	0	Draw of Lots	0	3
424	BETWEEN SIDDIPET WELCOME ARCH TO BANDARAM DARGAH KAMAN ON SH1, LHS	SIDDIPET	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
425	DUDDEDA VILLAGE TO INTEGRATED DISTRICT OFFICERS COMPLEX ON SH-1 LHS TOWARDS SIDDIPET	SIDDIPET	Regular	100	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
426	From BJR statue siddipet towards warangal within 3 km within siddipet muncipality limits	SIDDIPET	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
427	From BJR statue to Sardhar Papanna Goud Chowrastha (Ensanpally Chowrastha) siddipet town via ORR siddipet	SIDDIPET	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
428	FROM PRAGNAPUR VILLAGE TO GOWRARAM ON SH-1 LHS	SIDDIPET	Regular	100	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
429	FROM VANTIMAMIDI TO MULUGU ON SH-1 - LHS	SIDDIPET	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
430	WITH IN 3 KM FROM DUDDEDA TOLL GATE TOWARDS HYDERABAD LHS	SIDDIPET	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
431	WITH IN 3 KM FROM HUSNABAD BUS STAND TOWARDS SIDDIPET	SIDDIPET	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
432	With in Cherial city Municipality not on NH.	SIDDIPET	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
433	Within Gajwel city Municipality not on SH	SIDDIPET	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
434	From Sardhar Papanna Goud Chowrastha (Ensanpally Chowrastha) to Indera Gandhi statue via Govt Hospital within siddipet muncipality limits	SIDDIPET	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
435	Within Husnabad Muncipality not on SH/NH	SIDDIPET	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
436	Within Siddipet Muncipality not on SH	SIDDIPET	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
437	Durajpalli to Gumpula on NH 65,LHS Towards Vijayawada	SURYAPET	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
438	Durajpalli to Gumpula on NH 65,RHS Towards Vijayawada	SURYAPET	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
439	GUMPULA TO MADHAVARAM ON NH 65, LHS TOWARDS VIJAYAWADA	SURYAPET	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
440	From KM stone 79 to KM Stone 76 on NH 365 B LHS towards Tirumalagiri	SURYAPET	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
441	KODAD BYPASS ROAD ON NH 65 ,LHS TOWARDS VIJAYAWADA	SURYAPET	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
442 443	MADHAVARAM TO MUNAGALA ON NH 65, RHS TOWARDS VIJAYAWADA Shanthi Nagar to Khammam District border ,RHS on NH 365 A	SURYAPET SURYAPET	Regular	150 155	OPEN OPEN	DC DC	35 35	35 35	1225 1225	32 32	95 95	Draw of Lots	15 15	5
443	GUMPULA TO MADHAVARAM ON NH 65, RHS TOWARDS VIJAYAWADA	SURYAPET	Regular Regular	150	SC PH	CFS	35	35	1225	0	0	Draw of Lots Draw of Lots	0	3
445	MUNGALA TO AKUPAMULA ON NH 65 ,RHS TOWARDS VIJAYAWADA	SURYAPET	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
446	Nagaram X road to Vashistha School in Tirumalagiri on NH 365 B Either Side	SURYAPET	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
447	WITH IN 3 KM FROM HOTEL SEVEN ,SURYAPET ON NH 65 EITHER SIDE	SURYAPET	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
448	Within 4 Kms from Khammam X road in Kodad towards Khammam on NH 365 A	SURYAPET	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
449	Ranga theatre Junction to Khammam X road within Muncipal limits	SURYAPET	Regular	120	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
450	SURYAPET ASHOK LEYLAND SHOWROOM TO DURAJPALLI ON NH 65 ,LHS TOWARDS	SURYAPET	Regular	185	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
451	SURYAPET GOVERNMENT GENERAL HOSPITAL TO SURYAPET DISTRICT COURT within muncipal limits	SURYAPET	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir of the	Site (in Sq.		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	in Lakns)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site s	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer to	r the same.											
				MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
	Velugupally to Karvirala on NH 365 Either Side	SURYAPET	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	Within 3 Km from Nagarjuna Restaurant in Ananthagiri Road ,kodad town	SURYAPET	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
454	Within 3 KM on Kuda Kuda road from Suryapet bustand towards Nuthankal in Muncipal Limits	SURYAPET	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
455	WITHIN 3 KMS FROM RANGA THEATRE JUNCTION TOWARDS HUZURNAGAR ROAD IN KODAD	CLIDVADET	Regular	100	ORC	DC	20	20	000	22		Draw of Lots	45	
456	MUNCIPAL LIMITS Chilkur Hanuman temple to Miryalguda X road in huzurnagar on NH 167	SURYAPET SURYAPET	Pogular	100 150	OBC OPEN	DC	30 35	30 35	900 1225	32 32	55 95	Draw of Lots	15 15	5
	Chivemla to Namavaram on NH 365 BB ,LHS towards Khammam	SURYAPET	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
458	Chivernia to Namavaram on NH 365 BB ,RHS towards Khammam	SURYAPET	Regular Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
459	Namavaram to Mothey LHS towards Khammam on NH 365 BB	SURYAPET	Regular	185	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
460	From KM stone 44 to KM Stone 51 on NH 365 Either side towards Mallampalli	SURYAPET		155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
461	IN SURYAPET TOWN FROM DIST COURT TO NH 65 ENTRY ROAD within Muncipal Limits	SURYAPET	Regular Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
462	KODAD BYPASS ROAD ON NH 65 ,RHS TOWARDS VIJAYAWADA	SURYAPET	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
463	KODAD TOWN FROM KHAMMAM X ROAD TO NH 65 ENTRY TOWARDS VIJAYAWADA	SURYAPET	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
	WITH IN 2 KM FROM NTR JUNCTION TOWARDS HYDERABAD ROAD, WITHIN VIKARABAD	3011711 21	Regular	100	0.12.11		- 50	50	300	- 52	- 55	Draw of Lots		+
464	MUNICIPAL LIMITS	VIKARABAD	guiui	120	OPEN	DC	30	30	900	32	55	5.0.0 0. 2015	15	5
465	WITHIN 2 KM FROM RAKAMCHERLA VILLAGE ON NH 163 TOWARDS PARIGI ON BOTH SIDES	VIKARABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITH IN 3 KM FROM MANNEGUDA JUNCTION TOWARDS PARIGI ROAD ON NH 163	VIKARABAD	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	WITHIN 2 KM FROM Thunkumetla VILLAGE ON NH 163 TOWARDS KODANAGAL	VIKARABAD	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
468	WITHIN 3 KM FROM Gadsingapur VILLAGE ON NH 163 TOWARDS PARIGI ROAD	VIKARABAD	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
450	WITHIN 3KM FROM NTR JUNCTION TOWARDS WOMENS POLICE STATION, WITHIN VIKARABAD		Regular									Draw of Lots		1
469	MUNICIPAL LIMITS	VIKARABAD	_	100	OPEN	DC	30	30	900	32	55		15	5
470	WITHIN 4 KMS FROM KODANGAL JUNCTION ON 163 TOWARDS RAWALPALLY	VIKARABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 4 KMS FROM KODANGAL JUNCTION ON NH 163 TOWARDS PARIGI ON BOTH SIDE	VIKARABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	RANGAPUR VILLAGE ON NH44 LHS TOWARDS HYDERABAD	WANAPARTHY	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 2 KMS FROM AMARCHINTA BUS STAND WITHIN MUNCIPALITY LIMITS (NOT ON NH/SH)	WANAPARTHY	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
474	WITHIN 3 KMS FROM ATMAKUR BUS STAND WITHIN MUNCIPALITY LIMITS (NOT ON NH/SH)	WANAPARTHY	Regular	100	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
475	WITHIN 3 KMS FROM PEBBAIR BUS STAND ON ROAD CONNECTING TO NH-44 WITHIN MUNCIPLAITY LIMITS	WANAPARTHY	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
476	WITHIN 3 KMS FROM PEBBAIR ON PEBBAIR-KURNOOL ROAD CONNECTING TO NH-44 WITHIN MUNCIPLAITY LIMITS	WANAPARTHY	Regular	100	ОВС	DC	30	30	900	32	55	Draw of Lots	15	4
477	BETWEEN KOTHAKOTA BUSTAND AND KOTHAKOTA POLICE STATION ON ROAD CONNECTING TO NH-44 OF WANAPARTHY MUNICIPALITY	WANAPARTHY	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
	BETWEEN SHAKAPUR TOLL PLAZA TO KANIMETTA ON NH-44 LHS TOWARDS BANGALORE,		Regular									Draw of Lots		1
478	WANAPARTHY DISTRCIT	WANAPARTHY		160	OPEN	DC	35	35	1225	32	95		15	5
479	WITHIN 2 KM FROM BHAGIRATHA STATUE ON NAGAVARAM CROSS ROAD TOWARDS RAJANAGARAM OF WANAPARTHY MUNICIPALITY	WANAPARTHY	Regular	110	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
480	WITHIN 2 KM FROM BUDDHARAM VILLAGE TOWARDS BIJINEPALLI ON SH-21	WANAPARTHY	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
481		YADADRI BHUVANAGIRI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	From ECIL Cross road to Cherlapally, Via NFC ROAD	YADADRI BHUVANAGIRI	Regular	150	OPEN CC 1	DC	25	20	800	32	75	Draw of Lots	15	5
	LHS on NH-163 from Alair towards Warangal between Mile Stone : 65 to 73	YADADRI BHUVANAGIRI	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
484	LHS on NH-163 from Gudur Toll Plaza towards Bhongir between Mile Stone : 39 to 42	YADADRI BHUVANAGIRI	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
	WITHIN 3 KMS ON SH-17 FROM RUSTA PURAM TOWARD MULKALPALLY	YADADRI BHUVANAGIRI		100	ОВС	DC	30	30	900	32	75	Draw of Lots	15	4
486	LHS on NH-163 from Raigir towards Wangapally between Mile Stone : 55 to 59	YADADRI BHUVANAGIRI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir of the	mension (ir Site (in Sq.			arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to n													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applican	t should have firm offer fo	or the same.	1										
			Regular / Rural	MS + HSD in KLs	SC CC 1 SC PH ST ST CC 1	CC/DC/CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
487	LHS on NH-163 from Wangapalli towards Alair between Mile Stone : 60 to 63	YADADRI BHUVANAGIRI	Pogular	150	ST PH OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	LHS on NH-163 from Warangal towards Alair between Mile Stone : 77 to 74	YADADRI BHUVANAGIRI	Regular Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	LHS on NH-65 from Kaithapur To Dharmaojigudembetween Mile Stone : 46 to 51	YADADRI BHUVANAGIRI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
490	LHS on NH-65 from Koyalagudem towards Lakaram between Mile Stone : 47 to 51	YADADRI BHUVANAGIRI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
491	LHS on NH-65 from Malkapur To Borralagudem between Mile Stone : 40 to 44	YADADRI BHUVANAGIRI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
492	LHS on NH-65 from Toopranpet towards Malkapur between Mile Stone : 36 to 39	YADADRI BHUVANAGIRI		150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
493	On LHS from Chadergat to Moosarambagh X Road	YADADRI BHUVANAGIRI	Regular	150	OPEN	DC	25	20	800	32	75	Draw of Lots	15	5
	RHS on NH-163 from Bhongir towards Raigir between Mile Stone : 48 to 52	YADADRI BHUVANAGIRI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
495	Within Mothkur Muncipal Limits, on Gundala (Gundala Mandal)-Anajipur (Mothkur Mandal) Road.	YADADRI BHUVANAGIRI	Regular	160	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
496	WITHIN YADAGIRIGUTTA MUNCIPAL LIMITS	YADADRI BHUVANAGIRI	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
497	WITHIN 3 KMS FROM MANNEVARI PUMPU ROAD TOWARDS WADAPARTHY ON SH-17 (BHONGIR-PRAGNAPUR ROAD)	YADADRI BHUVANAGIRI	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
498	Within 3 Kms Muncipal limits of Bhuvanagiri from jagdevpur cross road(bhuvanagiri) towards Bhuvanagiri new collector Office Road	YADADRI BHUVANAGIRI	Regular	150	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
499	Within Alair Muncipal Limits on Hyderabad-Warangal Road Via Alair Bus Stand, Not on NH.	YADADRI BHUVANAGIRI	Regular	100	OPEN	DC	30	30	900	32	55	Draw of Lots	15	5
500	Adilabad Municipal limits, within 1 KM from Vinayak Chowk towards Rani Sathi Temple road (Not on NH/SH)	ADILABAD	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
501	From Adilabad Railway Station to Penuganga River Bridge (Chanda bridge) Within Adilabad		Regular			DC						Draw of Lots		
	Municipal Limits (Not on NH/SH)	ADILABAD		100	OPEN		20	20	400	32	55		15	5
	On NH353B, From Foujepur to Jainath village	ADILABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
503	On SH, Shampur Village limits, on Utnoor Road, Utnoor Mandal	ADILABAD	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
504	On SH, NTR Chowk, Utnoor towards Danthanpalle village Within Adilabad Municipal limits, from Vinayak Chowk to Rajiv Gandhi Institute of Medical	ADILABAD	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
505	Sciences (RIMS Hospital) (Not on NH/SH)	ADILABAD	Regular	230	ST	CFS	20	20	400			Draw of Lots		
506	Between Chandrugonda and Gumpena village, on NH-30	BHADRADRI KOTHAGUDEM	Regular	152	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
507	Between Pinapaka(PM) Village and Morampalli Banjar Circle, on NH-30	BHADRADRI KOTHAGUDEM	Regular	158	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
508	Karivarigudem village limits, on Tallada-Kothagudem road on SH-12, Julurpadu Mandal	BHADRADRI KOTHAGUDEM	Regular	115	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
509	Manuguru Municipal limits, Within 4KM from TSRTC Bus stand main entrance towards Aswapuram, On Manuguru to Bhadrachalam Road (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Regular	240	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
510	Within 3 KMs from Ambedkar Statue, Palvancha, towards Kothagudem Thermal Power Station (KTPS), on KSP road , Within Palvancha Municipal limits (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Regular	106	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
511	Within Yellandu Municipal Limits (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Regular	137	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
512	Sujathanagar village limits, on SH-12, Sujathanagar Mandal	BHADRADRI KOTHAGUDEM	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
513	Within 4 Kms from GV Mall, Kothagudem, towards Tallada, on SH-12	BHADRADRI KOTHAGUDEM	Regular	101	ST	CFS	30	30	900	0	0	Draw of Lots	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the	mension (ir Site (in Sq.			arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	sindicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	snould have firm offer f	or the same.	1	lone	1			1	1	1		1	1
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
514	Within 4 KMs from Vana Vihar Forest complex Main gate(District Forest Office-Bhadradri Kothagudem) towards Bhadrachalam, On NH-30	BHADRADRI KOTHAGUDEM	Regular	175	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
515	Within Kothagudem Municipal limits (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Regular	126	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
516	Within Manuguru Municipal limits (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Regular	240	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
517	R.Kothagudem(G) village limits, on SH-12, Cherla Mandal	BHADRADRI KOTHAGUDEM	Regular	135	OPEN CC 2	DC	30	30	900	32	75	Draw of Lots	15	5
518	On L.H.S, From Parkal to Kamareddypalli, on NH-353C	HANUMAKONDA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	On LHS, from Kakatiya University cross road to Fathima Nagar Junction, Within Warangal		Regular											
519	Municipal Limits	HANUMAKONDA	_	150	OPEN	CC	20	20	400	32	12	Bidding	30	5
520	With in Warangal Municipal Limits, From Vangapahad to Bhimaram on NH-163	HANUMAKONDA	Regular	150	OPEN	CC	30	30	900	32	12	Bidding	30	5
521	Within 5 kms from Karunapuram Y Junction on NH-163, RHS towards Madikonda	HANUMAKONDA	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
522	Within Warangal municipal limits, from Kakatiya University Cross Roads towards Karimnagar on NH-563	HANUMAKONDA	Regular	150	OBC	сс	30	30	900	32	12	Bidding	30	4
523	Within Warangal Municipal limits, from Kakatiya University X Roads to Kazipet Railway Station Junction via Warangal Police Commissionerate.	HANUMAKONDA	Regular	180	ОВС	сс	20	20	400	32	12	Bidding	30	4
524	Within Warangal Municipal Limits, from Kazipet Railway station Junction to Somidi Village	HANUMAKONDA	Regular	150	OBC	CC	20	20	400	32	12	Bidding	30	4
525	Within Parkal Municipal Limits, On Parkal to Kantathmakur road (Not on NH/SH)	HANUMAKONDA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
526	On LHS, Parkal - Huzurabad Road, Within Parkal Municipal Limits (Not on NH/SH)	HANUMAKONDA	Regular	115	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
527	Within Warangal Municipal Limits from Waddepally Village to Unikicherla Village (Not on	HANUMAKONDA	Regular	150	OPEN	CC	20	20	400	32	12	Bidding	30	5
528	Within Warangal Municipal Limits On Madikonda-Dharmasagar road (Not on NH/SH)	HANUMAKONDA	Regular	150	OPEN	CC	20	20	400	32	12	Bidding	30	5
529	Within Warangal Municipal Limits, Between KU Cross Road Junction and Mulugu Road Junction, On Kakatiya University Bypass Road	HANUMAKONDA	Regular	150	OPEN	DC	20	18	360	32	75	Draw of Lots	15	5
530	On LHS, towards Hyderabad, from Kazipet railway station Junction to Rampur, via Madikonda, Within Warangal Municipal Limits	HANUMAKONDA	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
531	Within Warangal Municipal limits, Adalath circle to Hanamkonda Bus stand on Balasamudram road (Kaloji Marg)	HANUMAKONDA	Regular	150	OPEN	сс	20	20	400	32	12	Bidding	30	5
532	Within Warangal Municipal Limits, from Gopalpur X road to Jawahar nagar X Roads	HANUMAKONDA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
533	On RHS, From Yelkurthy to Devannapet, on NH-163	HANUMAKONDA	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
534	Pembarthy village on NH-163, LHS towards Warangal	HANUMAKONDA	Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
535	Within 5 kms from Karunapuram Y Junction on NH-163, LHS towards Madikonda	HANUMAKONDA	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
536	Within Warangal Municipal Limits, from Ambedkar Bhavan to 100 feet road Waddepally	HANUMAKONDA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
537	Within Warangal Municipal Limits, from Ambedkar statue (Near Warangal Police Commissionerate) to Waddepally Church (100 feet road) via NGO colony road	HANUMAKONDA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
538	Between Raikal and Itkyal, on NH-61	JAGITIAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
539	Jagtial Municipal limits (not on NH/SH)	JAGITIAL	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
540	On NH-63, Between Medipalli(w) and Bandalingapur, Metpalli Mandal	JAGITIAL	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
541	On NH-63, Within Metpalli Municipal Limits	JAGITIAL	Regular	165	OPEN	CC	30	30	900	32	12	Bidding	30	5
542	Raikal municipal Limits (not on NH/SH)	JAGITIAL	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
543	With in 2KMs from ZPHS Anthargaon (Zilla Parishad High School), on Jagtial- Nizamabad bypass road, towards Nizamabad, on NH-563	JAGITIAL	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
544	Within JAGITIAL Municipal limits, on JAGITIAL-Dharmapuri Bypass Road (Not on NH/SH)	JAGITIAL	Regular	100	OPEN	CC	20	20	400	32	12	Bidding	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	nension (ir Site (in Sq.			arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer to	or the same.											
				MS + HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH			Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Bidding		
545	Within Jagtial Municipal limits, on NH-63	JAGITIAL	Regular	150	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
546	Within Korutla Municipal Limits (Not on NH/SH)	JAGITIAL	Regular	105	OPEN PH	DC	20	20	400	32	55	Draw of Lots	15	5
547	Within Metpalli Municipal Limits (Not on NH/SH)	JAGITIAL	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
548	Within 3KMs from Rayapatnam X roads, towards Dharmapuri, on NH-63	JAGITIAL	Regular	160	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
549	Within 5 KM from Jangoan Bus stand Chowrastha, on NH-365B towards Suryapet	JANGAON	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
550	Within Jangaon Muncipal limits (Not on NH/SH)	JANGAON	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
551	Chinnapendyala village to Station Ghanpur Village on NH-163	JANGAON	Regular	175	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
552	Edapalle, on NH-353C, Mahadevpur Mandal	JAYASHANKAR BHUPALPALLY	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
553		JAYASHANKAR	Regular			CFS						Draw of Lots	0	3
	On LHS, from Bhupalpally to Parkal road, within Bhupalapally Muncipal Limits on NH-353C	BHUPALPALLY		160	SC		30	30	900	0	0			
554	On LHS, From Medipalle to Garepalle on NH-353C	JAYASHANKAR BHUPALPALLY	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
555		JAYASHANKAR	Regular			CFS				0	0	Draw of Lots	0	3
	On LHS, From Moranchapally to Chelpur on NH-353C	BHUPALPALLY		160	SC	613	35	35	1225					
556	Kamareddy Municipality Limits, between Kamareddy Bus stand and RTA(road Transport		Regular			DC						Draw of Lots		
	Authority) Office Kamareddy (Not on NH/SH)	KAMAREDDY		105	OBC		20	20	400	32	55		15	4
557	On LHS, From Bhiknoor to Baswapur village,on NH-44	KAMAREDDY	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
558	On LHS, From Dharmaram Toll Plaza to Pittlam, on NH-161	KAMAREDDY	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
559	On LHS, Within 3 km from Jukkul Chourasta towards Nanded, on NH-161	KAMAREDDY	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
560	On LHS, Within 4 km from Jukkul Chourasta towards Sangareddy, on NH-161	KAMAREDDY	Regular	155	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
561	On NH-44, Between Tekriyal and Adloor Yellareddy village	KAMAREDDY	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
562	On LHS, From Jangampalle to Narasannapalle village, on NH-44	KAMAREDDY	Regular	160	SC	CFS	35	35 35	1225	0	0	Draw of Lots	0	3
563	On LHS, From Mainur to Madnur, on NH-161 WITHIN 3 KMS FROM BOGGUGUDISE X ROADS, TOWARDS YELLAREDDY, ON NH765D	KAMAREDDY KAMAREDDY	Regular	150 150	SC OPEN	CFS	35 35	35	1225 1225	32	95	Draw of Lots	0 15	5
564	·		Regular		SC	DC	35	35				Draw of Lots		
565	On LHS, within 3Kms from Gandhari X Roads towards Nizamabad on NH44	KAMAREDDY	Regular	150		CFS			1225	0	0	Draw of Lots	0	3
566 567	On LHS, Within 4km from Dharmaram toll plaza, towards Nanded, on NH-161 Between Adharsha TVS Showroom (Kothirampura) to Bommakal flyover beginning, on SH-1	KAMAREDDY KARIMNAGAR	Regular	160 165	SC OPEN	CFS	35 30	35 30	1225 900	32	75	Draw of Lots	15	5
568	Huzurabad Muncipal Limits, on Huzurabad-Jammikunta Road (Not on NH/SH)	KARIMNAGAR	Regular	100	OBC	DC DC	20	20	400	32	55	Draw of Lots Draw of Lots	15	4
569	Karimnagar Municipal Limits (Within 2 KM from Kaman Chowrasta towards Cable Bridge) (Not		Regular Regular			DC						Draw of Lots		
	on NH/SH)	KARIMNAGAR		100	OPEN		20	20	400	32	55		15	5
570	Karimnagar Municipal Limits, Within 2kms from Satavahana University main gate towards Rekurthi (Not on NH/SH)	KARIMNAGAR	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
571	Karimnagar Municipal Limits , on Vemulwada Bypass road (Not on NH/SH)	KARIMNAGAR	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
572	Karimnagar Municipal Limits, between Asian Shiva Theater to Shatavahana University Main		Regular			DC						Draw of Lots		
	Gate (Not on NH/SH) On LHS, From Vaageswari College of Engineering main gate(Thimmapur) to Kothapalle(P.N)	KARIMNAGAR	Regular	135	OBC		20	20	400	32	55	Draw of Lots	15	4
573	Village, on SH-1	KARIMNAGAR		120	OPEN	DC	30	30	900	32	75		15	5
574	On NH-563, Between Kothagattu Village to Kamala Institute of Technology & Science entrance ,Singapur	KARIMNAGAR	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
575	On NH-563, Manakondur Village Limits	KARIMNAGAR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
576	On NH-563, Between Gattududdenapalle village to Thadikal Village	KARIMNAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dir	nension (ir Site (in Sq.		1	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to ma													
* The site s	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	should have firm offer fo	or the same.											
				MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
	On SH-1, Between Chalmeda Anand Rao Institute of Medical Sciences main gate(Bommakal) to	VA DIA 4314 C 4 D	Regular	425	000	DC	20	20	000		7-	Draw of Lots	45	
	Durshed On BHS, towards Jacitial, within Kethanalli/Haveli) Village limits, on NHES2	KARIMNAGAR KARIMNAGAR	B	125 150	OBC OPEN		30 35	30 35	900 1225	32	75 95	D	15 15	5
	On RHS, towards Jagitial, within Kothapalli(Haveli) Village limits, on NH563		Regular			DC						Draw of Lots		
	On SH-11, Between Asifnagar Village to Oddyaram Village On SH-7, Between Apollo Reach Hospital Kazimaagar to Pratima Institute of Medical Science	KARIMNAGAR	Regular	162	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
	On SH-7, Between Apollo Reach Hospital, Karimnagar to Pratima Institute of Medical Science college, Nagnur	KARIMNAGAR	Regular	110	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
	On SH-11, Chintakunta Village to Kamanpur Village	KARIMNAGAR	Regular	120	OBC	DC	30	30	900	32	75	Draw of Lots	15	4
	Within Jammikunta Municipal Limits, From Gandhi chowk towards Venavanka village on	RAMININAGAR	Regular	120	OBC	БС	30	30	300	32	,,,	Draw of Lots	13	+ -
1 597 1	Karimnagar-Jammikunta Road (Not on NH/SH)	KARIMNAGAR	regular	100	OPEN	DC	20	20	400	32	55	Diaw or Lots	15	5
	On NH-563, Between Karimnagar District Court to Rekurthi	KARIMNAGAR	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
	Bethupally village limits, on sathupally to Ashwaraopeta road NH-365BB	KHAMMAM	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	Between Nayudupeta cross road to Warangal cross roads ,Khammam Municipal limits (Not on		Regular									Draw of Lots	_	
585	NH/SH)	KHAMMAM		110	OPEN	DC	20	20	400	32	55		15	5
	Between Church compound, Mustafanagar to Masjid center, Mustafanagar, on Mission hospital		Regular									Draw of Lots		
586	road,Khammam Municipal limits (Not on NH/SH)	KHAMMAM		105	OPEN	DC	20	20	400	32	55		15	5
587	Between Sri Sri circle and VRK Silk showroom, within Khammam municipal limits (Not on NH/SH)	KHAMMAM	Regular	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
588	Between Penuballi and Gowararam Toll Plaza on NH-30	KHAMMAM	Regular	160	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
500	On RHS , From Singarenipalli Toll plaza to Kusumanchi village, on New Express Green field		Regular			86						Draw of Lots		
589	Highway NH-365BB ,	KHAMMAM		160	OPEN	DC	35	35	1225	32	95		15	5
	Siddharam village limits, on Sathupally to Siddharam road , Within Sathupally Municipal limits		Regular									Draw of Lots		
590	(Not on NH/SH)	KHAMMAM	_	105	OPEN	DC	20	20	400	32	55		15	5
591	Tallampadu village limits, on New Express Green field Highway NH- 365BB	KHAMMAM	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
592	Tekulapalli village limits , on Kallur to Penuballi road, on NH-365BB, Penuballi mandal	KHAMMAM	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
593	Within 2 KMs from Ballepalli centre(Ballepalli Bus stop), on either side , on Khammam to		Regular			DC						Draw of Lots		
	Yellandu road, Within Khammam Municipal limits (Not on NH/SH)	KHAMMAM		110	OBC	50	20	20	400	32	55		15	4
	Within 2 KMs from main Gate of New Police Commmissionerate office, Khammam, on either		Regular		L	DC		l				Draw of Lots		I _
	side , Khammam to Kodad road (Not on NH/SH)	KHAMMAM		110	OPEN		20	20	400	32	55		15	5
	Within 3 KMs from Edulapuram Circle (Warangal X) towards Thirumalaypalem on NH-563	KHAMMAM	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	Within 2 KMs from NTR circle towards Warangal, on bypass road, NH-365BB, within Khammam	KHAMMAM	Regular	160	OPEN	DC	30	30	900	22	95	Draw of Lots	15	5
	Municipal Limits Within 2 KMs from Venkatagiri cross towards Mudigonda road on NH-365A	KHAMMAM	Pogular	160 160	OPEN	DC	35	35	1225	32 32	95	Draw of Late	15	5
	On LHS , From Singarenipalli Toll plaza to Kusumanchi village, on New Express Green field	KUMWIMIMI	Regular Regular	100	OF LIN		35	33	1223	0	0	Draw of Lots Draw of Lots	0	3
598	Highway NH-365BB	KHAMMAM	Neguiai	160	ST	CFS	35	35	1225	"		DIGW OF LOG		,
599	Within Khammam Municipal limits (Not on SH & NH)	KHAMMAM	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	Within Khammam Municipal limits , On Khammam Bus Depot road , Between Mayuri centre &		Regular	-								Draw of Lots	-	
600	Khammam bypass (Not on NH/SH)	KHAMMAM	3	105	OPEN	DC	20	20	400	32	55		15	5
601	Within Madhira Municipal limits (Not on NH/SH)	KHAMMAM	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	Within Sathupally Municipal limits (Not on NH & SH)	KHAMMAM	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	Pallegudem village to M.Venkataypalem village, on Khammam to Kuravi road, on NH-365A	KHAMMAM	Regular	160	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
604	Within Khammam Municipal limits , Within 2 KMs from T junction(Alipuram road-Mamtha hospital road cross) towards Alipuram (Not on NH/SH)	KHAMMAM	Regular	105	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
605	Within Khammam muncipal limits , Between Nehru statue at Kalvoddu circle to Nayudupeta X road via Naya Bazar Chowrasta (Not on NH/SH)	KHAMMAM	Regular	115	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	Site (in Sq.		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to n													
* The site	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applican			MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
606	Asifabad bypass, on NH-363	KUMURAM BHEEM ASIFABAD	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
607	On LHS, within 5KM from Wankidi towards Chandrapur, on NH-363	KUMURAM BHEEM ASIFABAD	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
608	Within Municipal limits of Kagaznagar (Not on NH/SH)	KUMURAM BHEEM ASIFABAD	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
609	Edulapusapalle (on Mahabubabad to Kesamudram road), Within Mahabubabad Municipal limits (Not on NH/SH)	MAHABUBABAD	Regular	110	ОВС	DC	20	20	400	32	55	Draw of Lots	15	4
610	Anantharam village limits, on Yellandu-Mahabubabad road, Within Mahabubabad Municipal limits (Not on NH/SH)	MAHABUBABAD	Regular	103	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
611	Dornakal Muncipal Limits (Not on NH/SH)	MAHABUBABAD	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
612	Kummarikuntla village limits, on NH-365	MAHABUBABAD	Regular	160	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
613	Within 3Kms from District Forest Office, Mahabubabad, on NH-365, towards Mahabubabad	MAHABUBABAD	Regular	158	OPEN	DC	30	30	900	32	95	Draw of Lots	15	5
614	Bellampally Municipal limits, not on NH/SH	MANCHERIAL	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
615	Between Mutyampet and Venkatapur, on SH-24	Mancherial	Regular	100	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
616	On LHS, within 3KM from Karimnagar X roads (Kothur X roads,Luxettipet), on SH-24, towards Jannaram	MANCHERIAL	Regular	100	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
617	On LHS, within 6.5KMs from IB Chowrastha (Ambedkar statue, Mancherial), towards Luxettipet, on NH-63	MANCHERIAL	Regular	200	OPEN	сс	35	35	1225	32	12	Bidding	30	5
618	On LHS, within Mancherial Municipal limits, from Bellampalli Chowrastha(Mancherial) towards Mandamarri (Not on NH/SH)	MANCHERIAL	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
619	On LHS , from Bheemaram to Jaipur Cross roads (Indaram X roads), on NH-63	MANCHERIAL	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
620	On LHS, Bellampally bypass, from Asifabad to Mancherial, on NH-363	MANCHERIAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
621	On NH-63, between Mancherial IB Chowrastha(Ambedkar statue) and Srirampur Police station	MANCHERIAL	Regular	160	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
622	On LHS, between Karimnagar X roads (Kothur X roads, Luxettipet) and Donabanda, towards Mancherial, on NH-63	MANCHERIAL	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	On LHS, from Mandamarri to Gandhari Maisama Temple, on NH-363	MANCHERIAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
624	Between Srirampur ring road and Gandhari Maisamma Temple, on NH-363	MANCHERIAL	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
625	On RHS, between Gudipet and Hazipur, towards Luxettipet, on NH-63	MANCHERIAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
626	Akulavari Ghanpur to Mullakatta Village on NH-163	MULUGU	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
627	On LHS, From Jawahar nagar Toll Plaza to Chalwai, on NH-163	MULUGU	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
628	Venkatapuram to Veerabhadraram(z), On SH-12	MULUGU	Regular	100	ST	CFS	30	30	900	0	0	Draw of Lots	0	5
629 630	Bhainsa Muncipal Limits (Not on NH/SH) Nirmal Municipal limits, from Mancherial cross road(Shivaji Chowk) towards Kadthal (Not on	NIRMAL	Regular Regular	100	OPEN	DC DC	20	20	400	32	55	Draw of Lots Draw of Lots	15	
	NH/SH)	NIRMAL	B In .	120	OPEN		20	20	400	32	55	D	15	5
631	On LHS, From Dimmathurti to Kanjara on NH-61	NIRMAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
632	Nirmal Municipal limits, within 2 KM from Mancherial cross road(Shivaji Chowk) towards Mancherial, on NH-61	NIRMAL	Regular	150	ST	CFS	30	30	900	0	0	Draw of Lots	0	3
633	On NH61, From Badankurthy to Maskapur village	NIRMAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
634	From Nizamabad Rural Sub Registrar office to Gutpa Village X Roads, on NH-63, LHS towards Gutpa village X Road	NIZAMABAD	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di	mension (ir : Site (in Sq.		Finance to be a	arranged by the	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site s	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applican	should have firm offer f	or the same.		1				1				1	
				MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
635	Nizamabad Municipal limits, from Nehru Park to Yellammagutta, via Chatrapati Shivaji Maharaj Chowk (Not on NH/SH)	NIZAMABAD	Regular	141	OPEN	cc	20	20	400	32	12	Bidding	30	5
636	On LHS, from (Sonpet & Pochampad) village to Indalwai Toll Plaza, on NH-44	NIZAMABAD	Pogular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
637	On LHS, From Perkit X Roads to Veilpur X Roads on NH-63	NIZAMABAD	Regular Regular	150	OPEN	CC	35	35	1225	32	12	Bidding	30	5
638	On LHS, within 3kms from Anskapur Andhra Bank towards kamarpalli on NH-63	NIZAMABAD	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	On LHS, From Sri Apoorva Venkateswara Swamy Temple near Gutpa Village X Road to Ankapur		Regular		1			1 - 33		<u> </u>	1	Draw of Lots	1	—
639	on NH-63	NIZAMABAD		150	ОВС	DC	35	35	1225	32	95		15	4
	On LHS, within 2km from Phulong X Road, on Nizamabad- Hyderabad Road, Within Nizamabad		Regular									Bidding		1
640	Municipal limits (Not on NH/SH)	NIZAMABAD	_	110	OBC	CC	20	20	400	32	12	_	30	4
641	Nizamabad Municipal limits, Within 3km from Sarangpur Chowrastha (Godown Road) towards		Regular			CFS				0	0	Draw of Lots	0	3
041	Jannipalle (Not on NH/SH)	NIZAMABAD		110	SC	CF3	20	20	400					
642	Within 4 km from Ambedkar chowrasta Bodhan, towards Yedapally, on NH-63	NIZAMABAD	Regular	150	OBC	DC	30	30	900	32	95	Draw of Lots	15	4
643	Within Armoor Municipal limits (Not on NH/SH)	NIZAMABAD	Regular	105	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
644	Within Nizamabad Municipal limits, from old collectorate circle, near Nizamabad District Court		Regular			DC						Draw of Lots		
	to Nehru park, on NH-63	NIZAMABAD		150	OBC		30	30	900	32	95	- 4	15	4
645	Within Nizamabad Municipal Limits (Not on NH/SH)	NIZAMABAD	Regular	105	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
646	Within Nizamabad municipal limits, from NTR Statue near Police Commissionerate to	NIZAMABAD	Regular	112	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
	Gurbabadi- Gandhi Gunj Chowrastha, via Godown Road (Not on NH/SH)			112 150	OPEN PH			_	900	22	05		45	
647	Within Nizamabad Municipal Limits, From Gandhi Chowk to Sarangpur on NH-63 On LHS, from Donkal X Roads to Kamarpalli on NH-63	NIZAMABAD NIZAMABAD	Regular	150	OBC CC 1	DC DC	30 35	30 35	1225	32 32	95 95	Draw of Lots	15 15	5 4
648 649	Gowreddipeta Village limits, on SH-1	PEDDAPALLI	Regular	146	OBC	DC	30	30	900	32	75	Draw of Lots Draw of Lots	15	4
650	Dubbapet Village, Sultanabad mandal,on SH-1	PEDDAPALLI	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
651	Lingapur village limits, within Ramagundam Municipal Limits (Not on NH/SH)	PEDDAPALLI	Regular Regular	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
652	Medipalli village limits, Within Ramagundam Municipal limits (Not on NH/SH)	PEDDAPALLI	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
653	On LHS, from Peddapalli to Karimnagar road, On SH-1 within Katnepalle village	PEDDAPALLI	Regular	100	OBC PH	DC	30	30	900	32	75	Draw of Lots	15	4
	On RHS, From Sankepalli to Nampalli, On SH-11	RAJANNA SIRCILLA	Regular	105	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
655	On SH-11, Between Samudralingapuram and Gorantial village	RAJANNA SIRCILLA	Regular	105	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
656	On SH-11, Within 2 KM from District Central Library main gate, Siricilla, towards Vemulwada	RAJANNA SIRCILLA	Regular	105	OPEN	CC	30	30	900	32	12	Bidding	30	5
657	On LHS, From Yellareddypet to Gollapalli, Yellareddypet Mandal, On SH-11	RAJANNA SIRCILLA	Regular	106	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
658	Within Vemulavada Municipal Limits (Not on NH/SH)	RAJANNA SIRCILLA	Regular	105	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
659	Within Thangallapalli Village Limits, on NH-365B	RAJANNA SIRCILLA	Regular	155	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
660	Narsampet to itikalpalle on NH-365	WARANGAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
661	On LHS, from Narsampet to Warangal road, within Narsampet Municipal Limits (Not on NH/SH)	WARANGAL	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
662	On LHS, from Arshanpally to Rudragudem Village on NH-365	WARANGAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
663	Warangal Municipal limits, Between Ajara Hospitals and ZSTC(Zonal Staff Training College,	WARANGAL	Regular	155	OPEN	CC	20	20	400	32	12	Bidding	30	5
664	With in Warangal Municipal limits, Between Pochammaidan Circle and CKM Arts & Science College (Deshaipet)	WARANGAL	Regular	150	OPEN	сс	20	20	400	32	12	Bidding	30	5
665	On LHS, from Budharaopet to Khanapur on NH-365	WARANGAL	Regular	150	ST	CFS	35	35	1225	0	0	Draw of Lots	0	3
666	Within Warangal Municipal limits, from Warangal RTO Chowrasta to Warangal Khammam Bypass Road	WARANGAL	Regular	150	ОВС	сс	20	20	400	32	12	Bidding	30	4
667	Within Warangal Municipal Limits, Between MGM Hospital Circle and Gavicherla Cross Roads, On NH-563	WARANGAL	Regular	150	OPEN	сс	30	30	900	32	12	Bidding	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	Site (in Sq.		1	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to r													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicar	t should have firm offer fo	or the same.	1										
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
668	Within Warangal municipal limits, From Gorrekunta to Dharmaram , L.H.S on Warangal-		Regular			СС								
	Narsampet Road ATMAKUR VILLAGE, GADWAL MANDAL ON GADWAL JHURALA DAM ROAD (NOT ON SH/NH)	WARANGAL JOGULAMBA GADWAL	. .	154 75	OPEN OBC		20	20	400 400	32	12	Bidding	30	5
669	GHATTU VILLAGE AND MANDAL	JOGULAMBA GADWAL	Rural	72	OPEN	DC	20	20	400	16	35	Draw of Lots	5	3
670	NAWABPET TO KONDURGU ROAD WITH IN 3 KM FROM NAWABPET, MAHABUBNAGAR DIST.	JOGULAIVIBA GADWAL	Rural Rural	//	OPEN	DC	20	20	400	16 16	35 35	Draw of Lots Draw of Lots	5	3
671	(NOT ON SH/NH)	MAHBUBNAGAR		60	ОВС	DC	20	20	400					
672	VEMULA VILLAGE ON VEMULA TO SANKALAMADDI ROAD , MOOSAPET MANDAL (NOT ON SH/NH)	MAHBUBNAGAR	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
673	Within 2 KMS from Peddarevally Village yowards Gouthapur Road	MAHBUBNAGAR	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
674	KODGAL VILLAGE ON KONDED JADCHERLA ROAD, JADCHERLA MANDAL (NOT ON SH/NH)	MAHBUBNAGAR	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
675	GAVALPALLY, SHANKARAMPET-R MANDAL, MEDAK DISTRICT	MEDAK	Rural	130	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
676	MAKTA BHOOPATHIPUR VILLAGE, MEDAK MANDAL (NOT ON SH/NH)	MEDAK	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
677	RANGAIPALLY VILLAGE, MANOHARABAD MANDAL (NOT ON SH/NH)	MEDAK	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
678	SURARAM VILLAGE, SHANKARAMPET(R') MANDAL (NOT ON SH/NH)	MEDAK	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
679	BRAHMANPALLY VILLAGE, NARSAPUR MANDAL (NOT ON SH/NH)	MEDAK	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
680	GIRMAPUR VILLAGE, MEDCHAL MANDAL (NOT ON SH/NH)	MEDCHAL MALKAJGIRI	Rural	130	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
681	MOODUCHINTALAPHALLY, SHAMIRPET MANDAL (NOT ON SH/NH)	MEDCHAL MALKAJGIRI	Rural	100	OBC	DC	20	25	500	16	35	Draw of Lots	5	3
682	ON GENOME VALLEY ROAD FROM TURKAPALLY TO KOLTHUR ON RHS	MEDCHAL MALKAJGIRI	Rural	200	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
683	ON ORR SERVICE ROAD FROM SHAMIRPET - KEESARA ROAD TO KARIMGUDA ROAD ON LHS		Rural			DC				16	35	Draw of Lots	5	4
083	SERVICE ROAD	MEDCHAL MALKAJGIRI		165	OPEN	DC	20	25	500					
684	Keesara village to bogaram village	MEDCHAL MALKAJGIRI	Rural	70	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
685	GOSAIGUDA VILLAGE, MEDCHAL MANDAL (NOT ON SH/NH)	MEDCHAL MALKAJGIRI	Rural	70	OPEN CC 2	DC	20	20	400	16	35	Draw of Lots	5	4
686	FROM POLEPALLI TO GUNTIPALLI - ON DEVARAKONDA TO DINDI ROAD	NALGONDA	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
687	GATTUPPAL VILLAGE, ON GATTUPPAL AND CHANDUR ROAD NOT ON SH/NH	NALGONDA	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
688	IN VILLAGE LIMIT OF AMMANABOLU ON MOTHKUR-NARKETPALLI ROAD - (NOT ON SH/NH)	NALGONDA	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
689	Kalimera village on eduloor kottanga Road Kattangoor mandal not on SH/NH	NALGONDA	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
690	NERADA VILLAGE, ON NERADA - CHITYAL ROAD ,CHITYAL MANDAL- (NOT ON SH/NH)	NALGONDA	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
691	Thondalvai village limits , on Narketpally- Mothkar Road, Narketpally mandal (NOT ON SH/NH)	NALGONDA	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
692	Cherukupalli village limits on Road towards Cherukupalli gate Gundlapally mandal	NALGONDA	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
693	From Jai Maisamma f/s veerlapalem towards Damercherla Road on LHS within 2.5KM	NALGONDA	Rural	100	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	2
694 695	AZMAPUR VILLAGE, PEDDA ADISERLA PALLE MANDAL (NOT ON SH/NH) WITHIN 2KM FROM GUNDMAL VILLAGE, GUNDMAL MANDAL , NARAYANPET DIST (NOT ON	NALGONDA	Rural Rural	75	SC	CFS DC	20	20	400	0 16	35	Draw of Lots Draw of Lots	5	4
696	SH/NH) FROM Kothur Village TO JP DARGAH via LV prasad NATCO Eye centre road (NOT ON	NARAYANPET	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	3
	SH/NH/municipality)	RANGA REDDY		48	OBC		20	20	400	1	1		1	
697	FROM RAIPOLE TO DANDUMAILARAM VIA DANDUMAILARAM ROAD (NOT ON SH/NH)	RANGA REDDY	Rural	80	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
698	KANDKUR VILLAGE, KANDUKUR MANDAL (NOT ON NH) ON KANDUKUR PS ROAD (NOT ON SH/NH)	RANGA REDDY	Rural	60	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
699	MEERKHANPET VILLAGE, KANDUKUR MANDAL (NOT ON SH/NH)	RANGA REDDY	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
700	PENJERLA VILLAGE, KOTHUR MANDAL ON MAIN ROAD CONNECTING NH TO KODICHERLA (NOT ON SH/NH)	RANGA REDDY	Rural	75	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
701	Rudraram Village, Shabad Mandal on Hayathabad to Tadlapalle Road	RANGA REDDY	Rural	80	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
702	Tadlapalle Village on Kandi-Shadnagar Road, Shabad Mandal (Not on NH/SH)	RANGA REDDY	Rural	72	OBC PH	DC	20	20	400	16	35	Draw of Lots	5	3

SI. No.	Orporation Limited (IOCL) proposes to appoint Retail Outlet dealers in TELANGANA State as per 1 Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir	mension (in Site (in Sq.		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
# Volume	2 indicated are based on market conditions and may undergo change. Applicants are advised to m	ake their own assesment	of netential	5	6	7				9a	9b	10	11	12
	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant													
				MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
703	WITHIN 3 KM FROM BHASKAR ENGINEERING COLLEGE ON ROAD CONNECTING MOINABAD TO AMDAPUR, NOT ON NH/SH	RANGA REDDY	Rural	72	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
704	Yeliminedu Village, Ibrahimpatnam Mandal (NOT ON SH/NH)	RANGA REDDY	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
705	BUCHIGUDA VILLAGE, FAROOQNAGAR MANDAL ON KESHAMPET ROAD (NOT ON SH/NH)	RANGA REDDY	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
706	CONNECTING ROAD BETWEEN RANGAREDDY NEW COLLECTOR OFFICE AND ORR SERVICE ROAD	RANGA REDDY	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
707	CONNECTING ROAD BETWEEN SANGHI TEMPLE AND ORR SERVICE ROAD	RANGA REDDY	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
708	EITHER SIDE ON CONNECTING ROAD BETWEEN PILLAIPALLI TO TARAMATHIPET ORR TOLL PLAZA (NOT ON SH/NH)	RANGA REDDY	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
709	FROM HAYATHABAD TO MACHANPALLE ON HAYATHABAD-SHABAD ROAD via Welspun Flooring factory.	RANGA REDDY	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
710	GUMMADAVALLE VILLAGE ON RACHALOOR TO TOOLEKALAN VILLAGE ROAD, KANDUKUR MANDAL (NOT ON SH/NH)	RANGA REDDY	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
711	IN BEWTEEN MANGALPALLEE TO KONGARAKALAN VIA KONGARAKALAN ROAD	RANGA REDDY	Rural	75	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
712	JANWADA VILLAGE ON SHANKARPALLE TO HYDERABAD Main ROAD(NOT ON NH OR SH)	RANGA REDDY	Rural	75	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
713	PEDDA GOLCONDA ORR EXIT TO Sri Ramanujacharya Swamy Temple ON PEDDA GOLCONDA PALMAKOLE RD (NOT ON NH/SH) via SHANKARAPUR	RANGA REDDY	Rural	75	OPEN PH	DC	20	20	400	16	35	Draw of Lots	5	4
714	TOLKATTA VILLAGE, MOINABAD MANDAL ON TOLKATTA MAIN ROAD (NOT ON SH/NH)	RANGA REDDY	Rural	72	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
715	Toopra Khurd Village, Maheshwaram Mandal on Thimmapur to Maheshwaram road (not on nh/SH)	RANGA REDDY	Rural	75	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
716	FROM SRIRANGAPUR TO Mahadevpoor on Shadnagar-Parigi Road (NOT ON NH/SH)	RANGA REDDY	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
717	CHIPPALPALLE VILLAGE ON BHAIRKHANPALLY ROAD, KANDUKUR MANDAL	RANGA REDDY	Rural	50	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	2
718	Within 1 KM from Kondakal Primary School towards Medha Rail Coach factory via Kondakal Graveyard, in Shankarpalle Mandal	RANGA REDDY	Rural	85	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
719	AURPALLE VILLAGE,MADGUL MANDAL	RANGA REDDY	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
720	BETWEEN INDRESHAM DARGA AND INDRESHAM POST OFFICE (NOT ON SH/NH)	SANGAREDDY	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
721	BETWEEN PARAMPARA VENTURES AND INDRESHAM DARGA ON CHITKUL ROAD (NOT ON	SANGAREDDY	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
722	On the road connecting Atmakur village to Babilgaon village, Sadashivpet Mandal	SANGAREDDY	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
723	WITHIN 3 KMS FROM ISNAPUR X ROADS TO PASHAMYLARAM ON ISNAPUR INDIRA KARAN ROAD	SANGAREDDY	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
724	MIRDODI VILLAGE, MIRDODI MANDAL, SIDDIPET	SIDDIPET	Rural	65	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
725	GOURAVELLI VILLAGE, AKKANNAPET MANDAL (NOT ON SH/NH)	SIDDIPET SIDDIPET	Rural	60 60	OBC	DC	20	20 20	400 400	16	35	Draw of Lots	5	3
726 727	INDUPRIYAL VILLAGE, DOULATABAD MANDAL (NOT ON SH/NH) KOTHUR VILLAGE, MULUG MANDAL	SIDDIPET	Rural	60	OBC OBC	DC DC	20	20	400	16 16	35 35	Draw of Lots Draw of Lots	5	3
727	MADDUR VILLAGE & MADDUR MANDAL (NOT ON SH/NH)	SIDDIPET	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
729	MARKOOK VILLAGE AND MANDAL (NOT ON SH/NH)	SIDDIPET	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
730	MULUG VILLAGE AND MULUG MANDAL (NOT ON SH/NH)	SIDDIPET	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
731	NARSAPUR VILLAGE, MULUG MANDAL	SIDDIPET	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
732	WITH IN 5 KM FROM CHINNAKODUR VILLAGE ON SIDDIPET- ELLANTAUNTA RD	SIDDIPET	Rural	75	OPEN PH	DC	20	20	400	16	35	Draw of Lots	5	4
733	BEJJANKI VILLAGE AND MANDAL (NOT ON SH/NH)	SIDDIPET	Rural	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
734	Cheedella, Penpahad Mandal	SURYAPET	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
735	Gudimalkapuram to Dondapadu	SURYAPET	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
736	Huzurnagar TO Choutapalli(OUTSIDE HUZURNAGAR MUNCIPAL LIMITS IN MATTAMPALLI ROAD) (NOT ON SH/NH)	SURYAPET	Rural	100	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
737	Mallareddygudem to Gudi malkapur	SURYAPET	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*		of the Site (in Sq.M.)*		арр	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applican	should have firm offer to	or the same.	1										
				MS + HSD in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS		Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Bidding		
738	Mattampalli to peddaveedu	SURYAPET	Rural	80	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
739	Amravaram village to Allipuram village	SURYAPET	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
740	WITHIN 2 KM FROM GUDIMALKAPURAM JUNCTION TOWARDS VAJINEPALLE VILLAGE VIA		Rural			DC				16	35	Draw of Lots	5	4
	ANJANI CEMENT FACTORY	SURYAPET		75	OPEN		20	20	400				_	
741	NAGARAM TO SHANTHI NAGAR TOWARDS THUNGATHURTHI (NOT ON SH/NH)	SURYAPET	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
742	Raghunathapalem, Mattampalli mandal	SURYAPET	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
742	Revoor Village ,Mellacheruvu Mandal	SURYAPET	Rural	80	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
743	Thungathurthy Village,Thungathurty Manadal	SURYAPET	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
745	VARDAPURAM VILLAGE, MATTAMPALLE MANDAL (NOT ON SH/NH)	SURYAPET	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
746	Within 2 km from Mellacheruvu to chintalapalem road	SURYAPET	Rural	80	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
747	Within 3 km from Dondapadu to Kuchipudi thanda	SURYAPET	Rural	80	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
748	Nagarjuna Cement factory to Mattampalli krishna bridge	SURYAPET	Rural	80	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
749	WITHIN 1 KM FROM ANJANEYA SWAMY TEMPLE MELLACHERUVU VILLAGE TOWARDS		Rural			CFS				0	0	Draw of Lots	0	2
	CHOUTAPALLI VILLAGE	SURYAPET		60	SC		20	20	400					
750	Within 2 KM from Chinanemila X road towards Miryala village	SURYAPET	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
751	GUDIBANDA TO KANDIBANDA ON KODAD TO MALLECHERUVU ROAD (NOT ON SH/NH)	SURYAPET	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
752	Yapala Singaram to Mellacheruvu	SURYAPET	Rural	80	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
753	Choutapalli Village to Mattampalli Village	SURYAPET	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
754	FROM RAMPUR TO KARIEEMPUR KOTEPALLY MANDAL (TANDUR-MOMINPET ROAD)	VIKARABAD	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
755	WITHIN 3 KM FROM Kandanelli TANDA JUNCTION , ON TANDUR TO MOMINPET ROAD (NOT ON SH/NH)	VIKARABAD	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
756	PEDDAMANDADDI VILLAGE, WANAPARTHY ON PEDDAMANDADDI VILLAGE WITHIN 2 KMS		Rural			DC				16	35	Draw of Lots	5	4
	FROM GOVT. HOSPITAL	WANAPARTHY		75	OPEN		20	20	400					
757	SRI RANGAPUR VILLAGE, SRI RANGAPUR MANDAL (NOT ON SH/NH)	WANAPARTHY	Rural	75	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
758	Within 2 Kms from Narayanpoor Bus Stop towards -Choutuppal Road, Narayanpoor (Mandal), Nalgonda.	YADADRI BHUVANAGIRI	Rural	90	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
759	WITHIN 3.0 KMS ON CHOUTUPPAL-NARAYNPUR ROAD OUTSIDE MUNCIPAL LIMITS	YADADRI BHUVANAGIRI	Rural	70	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	WITHIN 3.0 KMS ON CHOOTERFALMARAINFOR ROAD OUTSIDE MONCHAL EMITS WITHIN 3KMS FROM JALALPUR (VILLAGE) TO RAMALINGAMPALLY (VILLAGE) ROAD, BOMMALA		Rural	, ,			1 20		.00	16	35	Draw of Lots	5	3
760	RAMARAM (MANDAL)	YADADRI BHUVANAGIRI		75	ОВС	DC	20	20	400					•
761	Within 2 Kms from Chada Police Station Towards Bohingir On Mothkur-Bhuvanagiri Road (NOT ON SH/NH)	YADADRI BHUVANAGIRI	Rural	75	OBC CC 1	DC	20	20	400	16	35	Draw of Lots	5	3
762	EITHER SIDE AT DOODIVENKATAPUR (V), RAJAPET(M) ON KOLANUPAKA- RAJAPET ROAD	YADADRI BHUVANAGIRI	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
763	From Kondamadugu (village) Towards Mahadevpur on Kondamadugu-Mahadevpur Road	YADADRI BHUVANAGIRI	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
764	On either Side Within 3Kms outside Municipal Limits of Yadagirigutta from Pushkarini YTA Circle towards Turkapally on Keesara-Yadagirigutta Road	YADADRI BHUVANAGIRI	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
765	ON RAVINARAYAN REDDY ROAD WITHIN 2 KMS FROM ELECTRIC SUBSTATION TOWARDS BRAHMANAPALLY	YADADRI BHUVANAGIRI	Rural	65	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
766	On the road connecting NH 163 to Yadagirigutta via Surendrapuri, outside Yadagirigutta Municipal Limits.	YADADRI BHUVANAGIRI	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
767	On the road connecting NH 65 to Peddakondur via Chinnakondur on Sangem Road	YADADRI BHUVANAGIRI	Rural	75	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Road approaching towards NH-163 ,from Jameelapet (Village) to NH-163 Via Nemarugomula		Rural	,,,				1		16	35	Draw of Lots	5	4
768	Village (Not on NH)	YADADRI BHUVANAGIRI		75	OPEN CC 1	DC	20	20	400				_	

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*		Minimum Dimension (in M.) / Area of the Site (in Sq.M.)*		арр	arranged by the	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	in Lakns)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant													
The site	moute entrer be Owned or on rease with applicant for minimum 15 years 11 months of Applican	siouru nave iriin orier to		MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
769	WITHIN 2 KMs AT M.TURKAPALLY CIRCLE TOWARDS CHEEKATIMAMIDI ON YADAGIRI GUTTA-		Rural			DC				16	35	Draw of Lots	5	4
770	KEESARA ROAD, TURKAPALLY (MANDAL) Pulgilla (Village), Valigonda (Mandal)	YADADRI BHUVANAGIRI YADADRI BHUVANAGIRI	Rural	60 75	OPEN CC 1	CFS	20	20	400 400	0	0	Draw of Late	0	2
771	At Madhapuram (Village), Turkpally(M) on Madhapuram to Dharmaram Road	YADADRI BHUVANAGIRI	Rural	75	ST	CFS	20	20	400	0	0	Draw of Lots Draw of Lots	0	2
772	Nippani Village, Jamdapur to Nipani road, Bheempur Mandal (Not on NH/SH)	ADILABAD	Rural	50	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
773	Bharampur Village, Talamadugu Mandal (Not on NH/SH)	ADILABAD	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
774	Ichoda Village, Ichoda Mandal (Not on NH/SH)	ADILABAD	Rural	48	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
775	Jainath Village Limits, Jainath Mandal (Not on NH / SH)	ADILABAD	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
776	On RHS, Within 1 KM from Penuganga River bridge (Chanda bridge) towards NH44 junction (Not on NH/SH), Adilabad Rural Mandal	ADILABAD	Rural	48	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
777	Neredigonda Village limits, on Waddur Road, Neredigonda Mandal (Not on NH/SH)	ADILABAD	Rural	50	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
778	Bela Village Limts, Bela Mandal (Not on NH/SH)	ADILABAD	Rural	60	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
779	On LHS, Within 1 KM from Penuganga River bridge (Chanda bridge) towards NH44 junction (Not on NH/SH), Adilabad Rural Mandal	ADILABAD	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
780	Bethampudi Village limits, Tekulapally Mandal (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Rural	104	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
781	Mulakalapally village limits, Mulakalapally Mandal (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Rural	58	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Walakalapany village mints, Walakalapany Walatal (Not on Nil) 511)	BHADRADRI	Rural	30	OI LIV		20	20	400	16	35	Draw of Lots	5	4
782	Yanambilu village limits, Palvancha Mandal (Not on NH/SH)	KOTHAGUDEM		55	OPEN	DC	20	20	400					
783	Aswapuram village limits, on Aswapuram-Manuguru Road, Aswapuram Mandal (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Rural	110	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
784	Bhadrachalam Village limits, Bhadrachalam Mandal (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Rural	110	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
785	Burgampahad village limits, on Burgampahad-Aswaraopeta road, Burgampahad Mandal (Not on	BHADRADRI	Rural	105	CT.	CFS	30	25	F00	0	0	Draw of Lots	0	2
786	NH/SH)	KOTHAGUDEM BHADRADRI	Rural	105	ST	CFS	20	25	500	0	0	Draw of Lots	0	2
	Dammapeta village limits, Dammapeta Mandal (Not on NH/SH)	KOTHAGUDEM BHADRADRI	Rural	100	ST		20	25	500	0	0	Draw of Lots	0	2
787	E.Bayyaram Village limits, Pinapaka Mandal (Not on NH/SH)	KOTHAGUDEM BHADRADRI		166	ST	CFS	20	25	500	0	0		0	2
788	Sarapaka village limits, Burgampahad Mandal (Not on NH/SH)	KOTHAGUDEM	Rural	108	ST	CFS	20	25	500			Draw of Lots		
789	Aswaraopeta village limits, on Aswaraopeta-Bhadrachalam Road , Aswaraopeta Mandal (Not on NH/SH)	BHADRADRI KOTHAGUDEM	Rural	110	ST CC 1	CFS	20	25	500	0	0	Draw of Lots	0	2
790	Manikyapur Village limits, On Huzurabad-Bheemadevarapalli road,Bheemadevarapalli Mandal (Not on NH/SH)	HANUMAKONDA	Rural	60	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
791	Within 2 Kms from Kamlapur Primary Health Center towards Uppal,Kamlapur Mandal (Not on NH/SH)	HANUMAKONDA	Rural	100	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
792	Baopet Village limits, on Elkaturthi road, Elkaturthi Mandal (Not on NH/SH)	HANUMAKONDA	Rural	48	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
793	Dharmasagar village to Elkurthy village, Dharmasagar Mandal (not on NH/SH)	HANUMAKONDA	Rural	90	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
794	Vangara Village limits, on Siddipet-Hanumakonda Road,Bheemadevarapalli Mandal (Not on NH/SH)	HANUMAKONDA	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
795	Ladalla Village limits, On Damera to Parkal Road, Damera Mandal (Not on NH/SH)	HANUMAKONDA	Rural	52	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	2

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #		Type of Site*	Minimum Dir of the	Site (in Sq.		арр	arranged by the	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to ma should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant													
me site s	indud entire de owned of on lease with applicant for minimum 13 years 11 months of Applicant	soud lave IIIII o le i (MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 SC PH ST ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
796	Chandoli village limits, on Jagtial - Dharamaram X road, Gollapalli mandal (Not on NH/SH)	JAGITIAL	Rural	48	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
797	Godur village, Ibrahimpatnam Mandal (Not on NH/SH)	JAGITIAL	Rural	52	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
798	Jaggasagar Village limits, Metpalli Mandal (Not on NH/SH)	JAGITIAL	Rural	65	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
799 800	Kodimial Village limits, Kodimial Mandal (Not on NH/SH) Thakkallapalle Village Limits, on Mallial to Pegadapalli road, Mallial Mandal (Not on NH/SH)	JAGITIAL JAGITIAL	Rural Rural	60 52	OPEN OPEN	DC	20	20	400 400	16 16	35 35	Draw of Lots Draw of Lots	5 5	4
800	Laxmipur Village limits, on Chilvakodur - Pegadapalli road, Gollapalli Mandal (Not on NH/SH)	JAGITIAL	Rural	50	SC	DC CFS	20	20	400	0	0	Draw of Lots	0	2
802	Between Morapalli and Chelgal, on Morapalli - Chelgal road, JAGITIAL Rural Mandal (Not on NH/SH)	JAGITIAL	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
803	From Salvapur village to Konne village, via Lingampalle village, Bachannapet Mandal (Not on NH/SH)	JANGAON	Rural	56	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
804	Shivunipally village to Vishwanathapur village, on Palakurthy road, Station Ghanpur Mandal (Not on NH/SH)	JANGAON	Rural	55	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
805	Tharigoppula village to Bonthagattunagaram Village, on Husnabad -Jangaon Road, Tharigoppula Mandal (Not on NH/SH)	JANGAON	Rural	65	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
806	From Jeedikal village to Lingala Ghanpur village via Gummadavelli village, Lingala Ghanpur Mandal (Not on NH/SH)	JANGAON	Rural	100	OBC CC 1	DC	20	25	500	16	35	Draw of Lots	5	3
807	Bommera Village to Dardepalle village, on Palakurthy to Station Ghanpur main Road, Palakurthy mandal (Not on NH/SH)	JANGAON	Rural	52	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
808	Raghunathapally to Kanchanapalle village, Raghunathpally Mandal (Not on NH/SH)	JANGAON	Rural	52	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
809	Pochannapet Village Limits, on Bachannapet - Kolinpaka road, Bachannapet Mandal (Not on NH/SH)	JANGAON	Rural	48	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
810	Vallamkunta village limits, Malharrao Mandal (Not on NH/SH)	JAYASHANKAR BHUPALPALLY	Rural	70	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
811	Dharmaraopet Village limits, Ghanpur Mulugu Mandal (Not on NH/SH)	JAYASHANKAR BHUPALPALLY	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
812	From Kompalle to Gorlavedu , Bhupalapalli Mandal (Not on NH/SH)	JAYASHANKAR BHUPALPALLY	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
813	From Suraram to Ambatipalle, Mahadevpur mandal (Not on NH/SH)	JAYASHANKAR BHUPALPALLY JAYASHANKAR	Rural	125	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
814	Jaggaiahpet Village, Regonda Mandal (Not on NH/SH)	BHUPALPALLY	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
815	Kataram to Devarampalle, on Manthani Road, Kataram Mandal (Not on NH/SH)	JAYASHANKAR BHUPALPALLY JAYASHANKAR	Rural	105	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
816	Kaleswaram Village limits (not on SH/NH), Mahadevpur Mandal	BHUPALPALLY JAYASHANKAR	Rural	60	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	5	4
817	Rampur village limits, Bhupalpally Mandal (Not on NH/SH)	BHUPALPALLY JAYASHANKAR	Rural	70	OPEN CC 1	DC	20	20	400	16	35	Draw of Lots	0	2
818	Tadicherla Village, Malharrao Mandal (Not on NH/SH)	BHUPALPALLY	Rural	125	SC	CFS	20	25	500	0		Draw of Lots		
819 820	Ramareddy village limits, Ramareddy Mandal (Not on NH/SH) From Domakonda village to Anchanur village ,Domakonda Mandal (Not on NH/SH)	KAMAREDDY KAMAREDDY	Rural Rural	50 54	OBC CC 1	DC DC	20	20	400 400	16 16	35 35	Draw of Lots	5 5	3
821	Mohammadabad village limits, on Mohammadabad to Khandeballoor road, Jukkal Mandal (Not on NH/SH)	KAMAREDDY	Rural	55	OPEN	DC	20	20	400	16	35	Draw of Lots Draw of Lots	5	4

	2		Type of RO	Estimated monthly Sales Potential #		Type of Site*	of the Site (in Sq.M.)*		Finance to be arranged by the applicant		Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	in Lakns)	
	-	3	4	5	6	7		8		9a	9b	10	11	12
ine site s	indicated are based on market conditions and may undergo change. Applicants are advised to me													
	hould either be Owned or on lease with applicant for minimum 19 years 11 months or Applican	t should have firm offer fo		MS + HSD in KLs	SC SC CC 1 SC PH ST ST CC 1	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
822	Within 3 KM from Gandhari X Roads towards Gandhari, Sadashivanagar Mandal (Not on NH/SH)	KAMAREDDY	Rural	50	ST PH OPEN	DC	20	20	400	16	25	Danis of Late	5	4
_	From Kondapur village to Gundaram village, Rajampet Mandal (Not on NH/SH)	KAMAREDDY	Rural	50	ST	DC CFS	20	20	400	16 0	35 0	Draw of Lots Draw of Lots	0	2
	Saidapur Village limits, V. Saidapur Mandal (Not on NH/SH)	KARIMNAGAR	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	Utoor Village limits, Manakondur Mandal (Not on NH/SH)	KARIMNAGAR	Rural	50	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
826	Amudalapalle village limits, On Molangur to Veenavanka Road, Shankarapatnam Mandal (Not on NH/SH)	KARIMNAGAR	Rural	80	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
827	Bhupalapatnam Village limits,Choppadandi Mandal (Not on NH/SH)	KARIMNAGAR	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
828	Sundaragiri Village limits, Chigurumamidi Mandal (Not on NH/SH)	KARIMNAGAR	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Manakondur Village, Manakondur Mandal (Not on NH/SH)	KARIMNAGAR	Rural	80	OPEN CC 1	DC	20	25	500	16	35	Draw of Lots	5	4
	Bijigirisharif Village limits, On Jammikunta-Vavilala Road, Jammikunta Mandal (Not on NH/SH)	KARIMNAGAR	Rural	100	SC	CFS	20	25	500	0	0	Draw of Lots	0	2
	Mucharla village limits, on Mucharla to Enkoor road ,Kamepally mandal (Not on NH/SH)	KHAMMAM	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
	On Gangaram to Ramanagaram village road, Sathupally mandal (Not on NH/SH)	KHAMMAM	Rural	75	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
924	Thanikella village limits , on Thanikella to Thummalapalle road, Thanikella mandal (Not on Theerdhala village limits , on Khammam to Theerdhala road, Khammam rural mandal (Not on NH/SH)	KHAMMAM	Rural Rural	70 70	OBC	DC DC	20	20	400	16 16	35 35	Draw of Lots Draw of Lots	5	3
	Between Forest range office, Karepally to Karepally X road, Singareni mandal (Not on NH/SH)	KHAMMAM	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
926	Bheemavaram village limits, on Meenavolu to Bheemavaram road, Yerrupalem mandal (Not on NH/SH)	KHAMMAM	Rural	65	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Chandrupatla village limits, on Kalluru to Raghunadhagudem road, Kalluru Mandal (Not on NH/SH)	КНАММАМ	Rural	55	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
838	Dendukuru Village limits on Madhira to Yerupalem road , Madhira Mandal (Not on NH/SH)	KHAMMAM	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
	Lankapalli village limits , Penuballi mandal (Not on NH & SH)	KHAMMAM	Rural	65	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
	Peruvancha village limits on Kallur to Thiruvur Road, Kallur Mandal (Not on NH/SH)	KHAMMAM	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
842	Ponnekal village limits, on Dornakal to Lingala road, Kamepally mandal (Not on NH/SH) Ramanujavaram Village limits, on Muddunuru to Mittapalli road, Thallada Mandal (Not on	KHAMMAM	Rural Rural	55	OPEN	DC DC	20	20	400	16 16	35 35	Draw of Lots Draw of Lots	5	4
	NH/SH) Vemsoor Village and Vemsoor Mandal	KHAMMAM KHAMMAM	Rural	65 65	OPEN CC 2	DC	20 20	20	400 400	16	35	Draw of Lots	5	4
844	Odlapadu village limits, on Gollapadu to Theerdhala road, Khammam rural mandal (Not on NH/SH)	KHAMMAM	Rural	55	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	2
845		KUMURAM BHEEM ASIFABAD	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
846	Dahegaon Village limits , Dahegaon mandal (Not on NH/SH)	KUMURAM BHEEM ASIFABAD	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
847	Jaineor village limits, on Jaineor- Utnoor road, Jaineor Mandal (Not on NH/SH)	KUMURAM BHEEM ASIFABAD	Rural	55	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
848	Kerameri village limits, on Kerameri-Asifabad road, Kerameri Mandal (Not on NH/SH)	KUMURAM BHEEM ASIFABAD	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
849		KUMURAM BHEEM ASIFABAD	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
850		KUMURAM BHEEM ASIFABAD	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.) / Area of the Site (in Sq.M.)*			arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to m													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applican	t should have firm offer fo	or the same.			1								
			Regular / Rural	MS + HSD in KLs	OBC OBC CC 1 OBC PH OPEN CC 1 OPEN CC 2 OPEN PH SC SC CC 1 ST CC 1 ST PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
851		KUMURAM BHEEM	Rural			DC				16	35	Draw of Lots	5	4
	Sirpur village limits, on Kagaznagar- Kouthala road, Sirpur-T Mandal (Not on NH/SH)	ASIFABAD		70	OPEN	50	20	20	400					
852		KUMURAM BHEEM	Rural			CFS				0	0	Draw of Lots	0	2
032	Khamana Village limits, on Khamana-Wankidi road, Wankidi Mandal (Not on NH/SH)	ASIFABAD		50	SC	CF3	20	20	400					
853	Within Kouthala village limits, from Babu Jagjivan Ram statue towards Ravindranagar, Kouthala	KUMURAM BHEEM	Rural			CFS				0	0	Draw of Lots	0	2
655	mandal (Not on NH/SH)	ASIFABAD		50	ST	CF3	20	20	400					
854	Mogilicherla village, Kuravi Mandal (Not on NH/SH)	MAHABUBABAD	Rural	61	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
855	Uyyalawada village limits, on Dornakal to Gollacherla X road, Dornakal Mandal (Not on NH/SH)	MAHABUBABAD	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
856	Garla village limits, Garla Mandal (Not on NH/SH)	MAHABUBABAD	Rural	113	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
857	Dhadnnasari village limits, Kesamudram Mandal (Not on NH/SH)	MAHABUBABAD	Rural	70	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
858	Gopalnagar village limits on Tandur- Achalapur road, Tandur Mandal	Mancherial	Rural	48	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
859	On LHS, between Kistampet and Yellankapet,towards Chennur, Chennur Mandal (Not on NH/SH)	MANCHERIAL	Rural	55	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
860	Angarajpalle Village limits, on Asanad- chennur road, Chennur Mandal (Not on NH/SH)	MANCHERIAL	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
861	Bheemaram Village limits, on Bheemaram-Nennel road, Bheemaram Mandal (Not on NH/SH)	MANCHERIAL	Rural	55	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
862	Abbapuram village limits, on Regonda to Jakaram road, Mulug Mandal (Not on NH/SH)	MULUGU	Rural	52	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
863	Medaram (Sammakkajatara) to Narlapur Village, On Medaram to Pasra Road, Tadvai(Sammakka Sarakka) Mandal (Not on NH/SH)	MULUGU	Rural	46	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
064	7 7 7	MULUGU	Donal	100	OPEN	DC	20	25	500	10	25	Draw of Late	-	
864	Mulug Village Limits, on Mulugu to Devagiripatnam Road, Mulug Mandal (Not on NH/SH) Rampur Village limits (not on NH), On Pasra to Gundala Road, Govindaraopet Mandal (Not on	MULUGU	Rural	100	UPEN	DC	20	25	500	16 16	35 35	Draw of Lots	5	4
865	NH/SH)	MULUGU	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
866	Nallagunta Village, Venkatapur Mandal	MULUGU	Rural	56	OPEN CC 2	DC	20	20	400	16	35	Draw of Lots	5	4
867	Dharmara Village limits, on Watoli road, Lokeshwaram Mandal (Not on NH/SH)	NIRMAL	Rural	50	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
	From Dasturabad to Munyal Village, via Mandal Parishad Primary School, Perkapally,	11111111111	Rural	- 50	50		1 - 20		100	0	0	Draw of Lots	0	2
868	Dasturabad Mandal (Not on NH/SH)	NIRMAL		48	sc	CFS	20	20	400		1			_
869	Kamkati village limits, Sarangapur Mandal (Not on NH/SH)	NIRMAL	Rural	60	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
870	Kandakurthi village ,Renjal Mandal (Not on NH/SH)	NIZAMABAD	Rural	50	ОВС	DC	20	20	400	16	35	Draw of Lots	5	3
871	Nyavandi Village limits, Sirikonda Mandal (Not on NH/SH)	NIZAMABAD	Rural	55	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
872	Ummeda village limits, Nandipet mandal (Not on NH/SH)	NIZAMABAD	Rural	60	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
873	Within Hegdoli village limits, towards Kollur, Kotagiri Mandal (Not on NH/SH)	NIZAMABAD	Rural	50	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
874	Yamcha Village limits, Navipet Mandal (Not on NH/SH)	NIZAMABAD	Rural	53	OBC	DC	20	20	400	16	35	Draw of Lots	5	3
875	Donkeshwar village limits, Nandipet Mandal (Not on NH/SH)	NIZAMABAD	Rural	105	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
876	From Vengalpad village to Gouraram village, on Indalvai-Dharpally road (Not on NH/SH)	NIZAMABAD	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
877	Kanjar village, Mugpal Mandal (Not on NH/SH)	NIZAMABAD	Rural	56	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
878	Lingapur village limits, Navipet Mandal (Not on NH/SH)	NIZAMABAD NIZAMABAD	Rural	100 51	OPEN	DC	20	25	500 400	16	35	Draw of Lots	5	4
879	Nadipally village limits, On Dichpally- Kamalapur road (Not on NH/SH) Between Dupalle village and Kalyapur Village, on Dhupally-kunapally-kandhakurthi Road, Renjal	NIZAWABAU	Rural Rural	21	OPEN	DC	20	20	400	16 0	35 0	Draw of Lots	5	2
880	Mandal (Not on NH/SH)	NIZAMABAD		54	sc	CFS	20	20	400			Draw of Lots		
881	Makloor village limits on Makloor to Dasnagar Road, Makloor mandal (Not on NH/SH)	NIZAMABAD	Rural	55	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
882 883	Ootpalle village, on Bellal- Mosra Road, Bodhan Mandal (Not on NH/SH) Bhatpalle village, on Manthani to Venkatpur X road, Manthani Mandal (Not on NH/SH)	NIZAMABAD PEDDAPALLI	Rural	50 115	SC OBC	CFS DC	20	20 25	400 500	0	0	Draw of Lots	0	2
883 884	Jangoan village, Ramagundam Mandal (Not on NH/SH)	PEDDAPALLI	Rural Rural	110	OBC	DC	20	25	500	16 16	35 35	Draw of Lots Draw of Lots	5	3
	Suddala Village, on Sultanabad to Ragadi Madigunta Road, Sultanabad Mandal (Not on NH/SH)	PEDDAPALLI	Rural	55	OBC	DC	20	20	400		35		5	3
885	Suddaia village, on Sultanabad to Kagadi Maddigunta Road, Sultanabad Mandai (Not on NH/SH)	PEDDAPALLI	Rural	55	IORC	DC	20		400	16	35	Draw of Lots	5	

Indian Oil Corporation Limited (IOCL) proposes to appoint Retail Outlet dealers in TELANGANA State as per following details:

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Dimension (in M.) / Area of the Site (in Sq.M.)*		1	arranged by the licant	Mode of selection	Fixed Fee / Min bid amount (Rs. in Lakhs)	Security Deposit (Rs. in Lakhs)	
1	2	3	4	5	6	7		8		9a	9b	10	11	12
	indicated are based on market conditions and may undergo change. Applicants are advised to ma													
* The site	should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant	snould have firm offer fo	or the same.	I	ОВС	1					T .		1	1
			Regular / Rural	MS + HSD in KLs	OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO (Rs. in Lakhs)	Estimated fund required for development of infrastructure at RO (Rs. in Lakhs)	Draw of Lots / Bidding		
886	Rampalle Village limits, on Peddapalli to Vennampalli road, Peddapalli Mandal (Not on NH/SH)	PEDDAPALLI	Rural	55	OBC PH	DC	20	20	400	16	35	Draw of Lots	5	3
887	Brahmanpalli Village Limits, Anthargaon Mandal (Not on NH/SH)	PEDDAPALLI	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
888	Goilwada village, Anthergaon Mandal (Not on NH/SH)	PEDDAPALLI	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
889	Kamanpur Village & Mandal (Not on NH/SH)	PEDDAPALLI	Rural	60	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
890	Mustiala Village, on Godavarikhani to Manthani road, Ramagiri, Head Quarters at Centenary Colony Mandal (Not on NH/SH)	PEDDAPALLI	Rural	85	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
891	Raidandi Village, on Ramagundam to Anthergaon road, Anthergaon Mandal (Not on NH/SH)	PEDDAPALLI	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
892	Allur village limits, on Penchkalpet to 8 Incline colony road, Ramagundam Mandal (Not on NH/SH)	PEDDAPALLI	Rural	110	SC CC 1	CFS	20	25	500	0	0	Draw of Lots	0	2
893	Mustabad Village Limits, on Siddipet-Kamareddy Road, Mustabad Mandal (Not on NH/SH)	RAJANNA SIRCILLA	Rural	110	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
894	Within Illanthakunta village Limits, Illanthakunta Mandal (Not on NH/SH)	RAJANNA SIRCILLA	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
895	Within Lingampet Village Limits, on Vemulawada - Korutla Road, Chandurthi Mandal (Not on NH/SH)	RAJANNA SIRCILLA	Rural	100	OPEN	DC	20	25	500	16	35	Draw of Lots	5	4
896	Within Terlumadi Village Limits, On Jillella to Mustabad Road, Mustabad Mandal (Not on NH/SH)	RAJANNA SIRCILLA	Rural	70	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
897	Between Avunoor and Gudem Village limits, on Turkapalle to Namapur Road, Mustabad Mandal (Not on NH/SH)	RAJANNA SIRCILLA	Rural	60	sc	CFS	20	20	400	0	0	Draw of Lots	0	2
898	Nekkonda to Panikera Village, On Nekkonda to Narsampet Road, Nekkonda Mandal (Not on NH/SH)	WARANGAL	Rural	100	ОВС	DC	20	25	500	16	35	Draw of Lots	5	3
899	On LHS, Within 2Kms from Ookal Cross road towards Warangal, Geesugonda Mandal	WARANGAL	Rural	50	OPEN	DC	20	20	400	16	35	Draw of Lots	5	4
900	Madannapet Village limits, On Madannapet to Narsampet Road, Narsampet Mandal (Not on NH/SH)	WARANGAL	Rural	46	SC	CFS	20	20	400	0	0	Draw of Lots	0	2

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Websites (www.iocl.com / www. petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION, BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (details below), should be submitted on-line by 27.09.2023.

Type of RO	Type of Site	Category	Application	Type of RO	Type of Site	Category	Application
			fee (in Rs.)				fee (in Rs.)
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular ROs	CC	OPEN	10000	Rural ROs	CC	OPEN	8000
	DC	OBC	5000		DC	OBC	4000
	DC	OPEN	10000		DC	OPEN	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 01 year therafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel / withdraw / amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspaper / English language vis a vis vernacular / Hindi Newspaper / language, the direction / information indicated in English Newspaper / English language would prevail. Similarly, contents of Brochure in English language will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address.

Address	Contact No.	Districts
Secunderabad Divisional Office,		
Indian Oil Corporation Limited,		Hyderabad, Jogulamba Gadwal, Medak, Medchal Malkajgiri,
Ground Floor, Indian Oil Bhavan,		Mahabubnagar, Nagarkurnool, Nalgonda, Narayanpet,
Fatehbagh, Moosapet,	040-27686106	Rangareddy, Sangareddy, Siddipet, Suryapet, Vikarabad,
Kukatpally Industrial Estate,		Wanaparthy & Yadadri Bhuvangiri.
Sanath Nagar, Hyderabad - 500 018.		wanapartny & Yadadri Bridvangiri.
Telangana State.		
Warangal Divisional Office,		
Indian Oil Corporation Limited,		Adilabad, Bhadradri Kothagudem, Hanumakonda, Jagitial,
H. No. 5-11-503 & 504,		Jangaon, Jayashankar Bhupalapally, Kamareddy, Karimnagar,
Kandagatla Gateway, 4th Floor,	0870-2455993	Khammam, Komaram Bheem Asifabad, Mahabubabad,
KUC "X" Roads, Nayeem Nagar,		Mancherial, Mulugu, Nirmal, Nizamabad, Peddapalli, Rajanna
Hanumakonda, Warangal - 506001.		Sircilla & Warangal.
Telangana State.		

Divisional Office	DISTRICT	IOCL FIELD OFFICER	MOBILE NUMBER
	ADILABAD	G.M.CHAITANYA	7585035552
	BHADRADRI KOTHAGUDEM	K.L.V.V.PRASAD	8978882500
	JAGITIAL	V MAHESH	7090331020
		K SURESH	9550909049
	JANGAON	K PRITHVI RAJ	9491399861
	JAYASHANKAR BHUPALPALLY	AKASH GAURAV	9491399860
	KAMAREDDY	A RAJESH	8330934473
	KARIM NAGAR	ANKITH KUMAR SINGH	9490958066
	KARIIVI NAGAR	V MAHESH	7090331020
	KHAMMAM	PURAN	9490958086
	KOMRAM BHEEM ASIFABAD	K SURESH	9550909049
WARANGAL Divisional Office	MAHABUBABAD	K.L.V.V.PRASAD	8978882500
WARANGAL DIVISIONAL OTTICE	MANCHERIAL	K SURESH	9550909049
	MULUGU	M.G.PRATHAP REDDY	9490958178
	NIRMAL	G.M.CHAITANYA	7585035552
	NIZAMABAD	J KRANTHI	8331044096
	INIZAIVIABAD	A RAJESH	8330934473
	PEDDAPALLI	AKASH GAURAV	9491399860
	RAJANNA SIRCILLA	V MAHESH	7090331020
	WARANGAL	K PRITHVI RAJ	9491399861
	WARANGAL	M.G.PRATHAP REDDY	9490958178
		K PRITHVI RAJ	9491399861
	HANUMAKONDA	M.G.PRATHAP REDDY	9490958178
		ANKITH KUMAR SINGH	9490958066

Divisional Office	DISTRICT	IOCL FIELD OFFICER	MOBILE NUMBER
		ANKESH KUMAR	9818271251
	HYDERABAD	MUSHTIGUNTA, NITISH	9490958195
	ITTOLINADAD	KUMAR ABHISHEK	9564675428
		NAGENDRA, MAJJARI	6303408833
	JOGULAMBA GADWAL	AJAY MEENA	7389947074
	MEDAK	KUMAR, MOLUGU PRANAY	9848002059
		N ANVESH	9108547555
	MEDCHAL MALKAIGIRI	KUMAR, MOLUGU PRANAY	9848002059
	IVIEDCHAL WALKAJGIKI	NAGENDRA, MAJJARI	6303408833
		KUMAR ABHISHEK	9564675428
		RAO, KALLA JOGESWARA RAMA	9597854512
	MEHABUBNAGAR	AJAY MEENA	7389947074
		KIRAN, MITIKIRI	7619569499
	NAGARKURNOOL	RAO, KALLA JOGESWARA RAMA	9597854512
	NAI GONDA	SHAIK, MOGALAVALI	9042724007

CECUMPERADA DE LA LOCCIO	INALGUNDA	In contrast of the contrast of	
SECUNDERABAD Divisional Office		MISHRA, UTKARSH	9455008815
	NARAYANPET	KIRAN, MITIKIRI	7619569499
		KUMAR ABHISHEK	9564675428
		ANKESH KUMAR	9818271251
	RANGAREDDI	MUSHTIGUNTA, NITISH	9490958195
	NANGAREDDI	N ANVESH	9108547555
		NAGENDRA, MAJJARI	6303408833
		AJAY MEENA	7389947074
	SANGAREDDY	N ANVESH	9108547555
	SANGANEDDI	VARDHAN REDDY, KACHANA VISHNU	8886268370
	SIDDIPET	KUMAR, AMIT	9535778616
	SURYAPET	BUPAL, MOHAN KRISHNA	9490958087
	JONIAFEI	SHAIK, MOGALAVALI	9042724007
	VIKARABAD	KIRAN, MITIKIRI	7619569499
	WANAPARTHY	RAO, KALLA JOGESWARA RAMA	9597854512
	YADADRI BHUVANAGIRI	LOKANADH RAO J	9989495858